YAHEE,

>
8=/ ElFx}
RUN l Electronics

s EG - XFSHOE | LEDS7ITF | 2EX2H7| | §EZ237| | AH0[AS|EL | #S|E

Run Electronics
2015. No.é6

S p— -
s

L ——— - -~
— — — -

o — — -

e

o pm  —

A s e e
y

-~ 23
i ——

— =

- e o s

S -

.......

A E—.;".‘_'III- 17, Gosan-ro 148beon-gil, Gunpo-si, Gyeonggi-do, KOREA

.‘i“%‘ D)435-833 A7|E PHA| DA 148%Z 17 2L|TY2| AS 1083
RUN Electronics
1 Tel. 031-8068-2000 / 2001 Fax.031-8068-2002 E-mail. run@21run.co.kr




1 1
503 _ B0 | |
S = 7l i “ m
N2 = i K] M N m - w5
- I Kl 5] H =] - I _._.Au_ 1 H a0
213 g N A0 =0 CELN P L wm
K — KT - KT KW 2] o
o5s - - oo ol o 0< o 0 RN oo o O o
ol & S o) o) < ) CU ) 1ol 3 o | AT o | =) 4 o)
mol sy @ & Rl @ Kol o miE @ | WA ® | TK
M E g ] ~ &l 8 El 8 qust & ¢ o & ! <Ko &
] 1
] 1

REH-2000

RFL—20N

RHC-90

T T - - - - - 58— /- 5 - -

RLBS—-10W

RHTS—100W

e e e [ e e

RHTC-65B—200

o e ]

Ri=at-HL. RT=80-FL

(=
o
-
G
@
S
(=5

RUN ELECTRONICS 3




Contents =

1LIAN =227 RT-QOHL/50HL/90FL/S0FL 6
S S RT-90-35/50-88/30-3 ... £
,,,,,,,,,,,,,,,,,,,,,,,,,, ... Rm=SOHTHSOHT 8
,,,,,,,,,,,,,,,,,,,,,,,,,, ... Rm=9OKO/0 9
12 7AM OU2=287] RTM-90H/50H/QOF/50F 10
,,,,,,,,,,,,,,,,,,,,,,,,,, " RIM-90H3S/50H3S/90F3S/50F3s 11
,,,,,,,,,,,,,,,,,,,,,,,,,, " ... RIM-90H2S/50H2S/90F2S/50F2S 12
A 7 i = Pl B RSB-320/120/90/50/30 13
,,,,,,,,,,,,,,,,,,,,,,,,,, ... RsB20/120/90/50/30 14
18 WA 2= -g=227]  RHC%0 15
1-4.tXE 28 - g=2%7]  RD300/300L 16
.......................... ... RD=200/00L 18
__________________________ "o . RDm100/100L .20
__________________________ oo RO=00 22
__________________________ T RD=1000 24
__________________________ T RD=1000B 26

e RD—2000 a1

2-1. olep bzl RHTC-65-200/RHTC-65B-200 28
,,,,,,,,,,,,,,,,,,,,,,,,,, . RATC-80-80/80-180/80-330/60-80/60-180 29
,,,,,,,,,,,,,,,,,,,,,,,,,, . RHATC-80F-80/80F-180/80F-330/60F-80/60F-180 30
2-2 ~AMo|AsEF RHTS-30w/50w/10080 32
,,,,,,,,,,,,,,,,,,,,,,,,,, ... RdTS2000WL 33
,,,,,,,,,,,,,,,,,,,,,,,,,, ... RdTSZ00WH 34
,,,,,,,,,,,,,,,,,,,,,,,,,, " RHACT-80W/100W/150W/200W/300W/400W 35
S SO RHCT-500w/800W/1000W 36
.......................... e RAT=2OW 8T
__________________________ ... RdAT-80W/100w/1sow/200W 38
__________________________ o RAM=130W/SOw/toow 39
,,,,,,,,,,,,,,,,,,,,,,,,,, © . RAme23OW 40
" RHM—4 20W/10W 41

4 RUN ELECTRONICS




Contentsy =

SIEE o REH2000 e BB
e RERRO00K i
* RFH—2000-50 45

Holer o REESI000 B2
5|

4, 57175

4-1.LEDs .. RBSTSWAIOW AT
e RUBSWS/SW/TOW/20WS/20W 49,
o RUBEBWHZTOWH .50
e RUBTIOW 20
42 28s ... RELZ2ONRAL-20/RIL-60 . .52

5-1.CTD o RCTD100 03,
S=2 XXt ... RB=50A=1P/50A/100A/225A/400A/400AL 54
S5=3. & AR . RS-25A/25B/25C/25D/25E/25F .. 9%

ST4. UM AEIA . RS770-18/3020/25A/30-70 .96

RUN ELECTRONICS 5




ihermostat

AN RS2

60
51

105
99

S

aooonoononoonnn

B
l
Lﬁb

SIS

38.2

i

»

52
38.1

1 12" 8 ad [axa
|NEN

RYfan|an)|
oo T8
Z 3. |4

1
POWER "o FA
i s

Contact form diagram: gz=

|

E Zl (Characteristic)

1. Q2 R HA| YT, 52 SE BA| YT A

It has input power lamp and output operation indicated lamp.

Fan

X

Thermostat Heater

RT—90—HL | W,
RT-50-HL , , :

L
N

Example of connection 24k

2cHit
Tem
set error

HojBixt

hylgp is

bl

Note

SHy
Output
voltage

254
Temp
range

7tz
Width

M2
Length

zizley
vlfde

THE
Attachment hole

Ratin
n
Curre%

MODEL

RT-90—-HL

60 (105

51%80 or 35mm DN rall

AC100~AC265V

AC100~AC265V

AC250V,10A

0~90T

THG 7C

olEITE

RT-50—-HL

60 105

51%80 or 35mm DN rall

AC100~AC265V

AC100~AC265V

AC250V,10A

-10~50T

LG 7C

heater

RT-90-FL

60 105

51%80 or 35mm DN rall

AC100~AC265V

AC100~AC265V

AC250V,10A

0~907C

S e

AHE

RT-50-FL

60 |105| 52

5180 or 35mm DINrail

AC100~AC265V

AC100~AC265V

AC250V,10A

-10~50C

=BG T

fan

UL
Termianl lug

o|=
—o

Certification

Hi2e
Custody temp

Y ES|
Case meterials
PC(Polycarbonate)

UL—94 V-2
A A

CIXISE
Terminal bolt

IMEE
Attachment bolt

G
Weight

ABFEE
Relative humidity

AEFH2E
Ambient temp

—20~60°C|30~80% RH|—20~60°C| 1389 M3 X6 M4X10 | 1.5-3Y KC

% HiZIHE CONTROL PANELO= 2= —10°C ~ 50°C Z=FH7|E AFS HEELICH
We prefer the temp range of control panel is —10~507C.

x FUTEFWI|7[9] 244 U WUTOT XL I3[ 7| 2 2 &= 717|500 A8 ¥ F 20l = ClF5 2% QHAY XS FAIO[0] AL OpA| Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

6 RUN ELECTRONICS




ilhermostaty L BE ===

99
106

pp————
106

[

RUN ELECTRIC
THERMOSTAT

RT-50-38
250V 5A v

AUTO »  ON_AUTO}

@
TH. [OFF OFF
S

LT
R
1 2 3
COM FAN HEATER
(NC) (NO)
60 Contact form diagram: #2&

53

£ & (Characteristic)

1. RT-50-3S 2&!2 Snap S/WE B2 (HE2 Toggle S/W, Selector S/W, CAM S/W S8 B =510
3|28 HMol= HAHZES0] gi&LIct)

RT-50—3S ad—heres Snap S/W (No need to ad—here toggle S/W selector S/W and CAM S/W and compose

the circuit)
Thermostat Heater Thermostat Fan
L L
N N
Example of connection ZXME
MODEL 712 | M2 | =0 IHE s 2EHY | 2EHA | HO#E | 82
Width |Length|Height|  Attachment hole Aptie UL PR T

RT-90-3S| 60 | 106 | 53 |51X800r35mmDIN rail |AC250V,5A| 0~0TC | £5°C| 7T
RT-50-3S| 60 | 106 | 53 | 51X80o0r35mmDIN rail |AC250V,5A| -10~50TC | £5C | 7°C
RT-30-3S| 60 | 106 | 53 | 51x80o0r35mmDIN rail |AC250V,5A| =30~30TC| *£5C | 7°C

MBZIIRE| AIBFIIEE | EERE | B | G | BHEE | DEEE | omoix|  oF
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug| Certification
PC{Polycarbonate)

—20~607C|30~80% RH|[-20~60°C| 1459 |UL—94 V-2| M35X8 | M4x10 | 1.5-4Y | KCCE
A xHE

% HiFHF CONTROL PANELOIE 2EHE| —10C ~ 50°C ZH7|E A2 HEEL|C
We prefer the temp range of control panel is —10~50C.

x FUILE FH12[9 &4 X YU e qi IE2F 235 = 2715 A8 E FLoA= 015 2 2 QPP XIS BAOL0] ALSopq 2.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again,

RUN ELECTRONICS 7




ilihermostaty L NE 2 Pllezz0lt=s)

RUN ELECTRIC
THERMOSTAT

i

3] 3]

RT-50HT )

Ilﬂ

A

AUTO , __ON__AUTO
£ A > ON
TH Oﬂ OFF

S/W
e—
AR\ AR )
(2l T8
1

Lal

»

53
34.5

2
COM FAN HEATER
(NC)  (NO)

Contact form diagram: 2=

60 !

E Zl (Characteristic)

1. RT-50HT 222 Snap S/WE 82} (E=2Z Toggle S/W, Selector S/W, CAM S/W S £ 25104
3|2 E FAMsk= HAHZ 20| YSLICt)
RT—50HT ad—heres Snap S/W (No need to ad—here toggle S/W selector S/W and CAM S/W and compose

the circuit)
Thermostat Heater
L 2] L
N N
Example of connection ZM &=
MODEL IR | M2 | =0| IHE HE 2cHY | 2EHE | HoEA | HT
Width Length Height|  Attachment hole Sang | e | e | bt

RT-90HT | 60 | 106 | 53 | 51X800r35mmDINrail AC250V,5A| 0~90C | =5C | 7T
RT-50HT | 60 | 106 | 53 | 51X800r35mmDINrail |AC250V,5A| —10~50C| =5C | 7TC

ABFSISE | MEFYSE | HBRE | 5T | ME | CXiEE | nHEE | ¥R A3
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug Certification
PC(Polycarbonate)

—20~60°C| 30~80% RH|—20~60°C| 145g \UL—94 V-2 M35X8 | M4x10 | 1.5-4Y  KC.CE
A A

% HfZIHE CONTROL PANELO|l= 2E/%2| —10°C ~ 50°C ZE7|& AHE HZERLI|C
We prefer the temp range of control panel is —10~507C.

x FUTEFWI|7[9] 244 W WTOT XL I3[ 7| 2 2 &= 717|500 A8 ¥ F 20l = ClF 2% QHAY XS FAIOI0] AR OpM| Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

8 RUN ELECTRONICS




ilhermostaty L BE ===

Tﬁw |

- RE:
el 1.2 3 EE
™ N COM FAN HEATER
T (NC)  (NO)
— 5% — Contact form diagram: 2%
E Xl (Characteristic)
1. 22 MM 2[EM 1M, 2M EE2 5 MAStn ELICEH
Sensor thermostat 1m, 2m to order
Thermostat Heater Thermostat Fan
3 @ @%%3
L [
N N
Example of connection ZM&E
MODEL 2 | M2 | =0] IHE s 2CHe| | 22Ei | Ho{HA | H|Z
Width |Length|Height|  Attachment hole Sating, Ul o Thor | ke | Noto
RTL—90 60 | 108 53 | 51 X80 or 35mm DIN rail |AC250V,16A| 0~90°C +5C Fio
RTL—-50 60 | 108 53 | 51 X80 0r 35mm DIN rail [AC250V,16A[ —10~50C | *£5TC Fa v
RTL—30 60 | 108 53 | 51 X80 0r 35mm DIN rail [AC250V,16A| —-30~30C| *£5TC Fie
MSZSSE| ABRSE | EERT | 3 | @ | ©XiEE | n¥Ee | gmox| o3
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug| Certification
—20~60°C| 30~80% RH|—-20~607C| 1429 ABS M35X8 | M4X10 1.5—-4Y [KC,CERoHS

% Hi T CONTROL PANELOl= 2532 —10C ~ 50C =H7|E AKS HERLICH
We prefer the temp range of control panel is —10~50C.
% T U719 &4 W Aot XA TS|t 23 E = 27150 A8 FeolE ClF 28 QUTFA|E RO ALE i Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again,

RUN ELECTRONICS 9




lihermostaty ;B EE =P

41
34

76 67

Oo0ooooag

D] e
1|2
0 HEATER
Powef

Contact form diagram: &2z2=

E Xl (Characteristic)

1. &2 SNz Ax[7} ZHEEL
Can be installed easly even in small space.

 RHAATE SEFRHA AZOo = E[0 USLICH
Mountings are two type of bolt & channel.

3. 3lELE, HIEeE &E2|=0] UsLICE.
We have the two type of thermostat for heater and cooling fan.
Thermostat Heater Thermostat Fan
(%) (o)

RTM—90F z
RTM-50F

L

N

Example of connection ZME

MODEL 72 | ME | #0| ki M= 2EHS | 2EHI | HojHEzt  H|o
Width Length Height  Attachmenthole | QJating ~ Teme  femp | Tmo.' Note
RTM—90H | 33 | 76 41 67 or 35mm DINrail  |AC250V,10A| 0~90C | £5TC 7C |5Epig
RTM-50H | 33 | 76 41 67 or 35mmDINrail  |AC250V,10A| =10~50C | £5°C 7°C | heater
RTM—90F | 33 | 76 41 67 or 35mmDINrail  |AC250V,10A| 0~90C | £5°C 7C ibat=d
RTM-50F | 33 | 76 41 67 or 35mmDINrail  |AC250V,10A| =10~50C | £5°C rc fan
ABFISE MSFYSE | HBRE | 5T | ME | CXEE | DHEE | ¥R A3
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug Certification
PC(Polycarbonate)
—20~907C| 30~80% RH|—20~907C| 429 |UL—94 V—2| M35%X8 | M4x10 1.5—4Y |KC,CE,RoHS
A THE

% HiZIHE CONTROL PANELO= 2= —10°C ~ 50°C Z=FH7|E AFS HEELICH
We prefer the temp range of control panel is —10~507C.

x FUIPE

= T

71719 &% X YT AL IS7t 225 217150 A E F L0l E CIF 2 2 K|S RAOIO] ALG o 2.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

10 RUN ELECTRONICS




lihermostatsZy ELEF =S

a4

i

1

[ LITTTITLL]

| 1

‘I‘I!‘hl'llllll AALLLLLL ALY

A4 s l | . !fzg:l
f&,; E |
- ‘ > \
S o HE o HES LR
4 : OFF
- NS il

| T.B
{ ¥v 41 o 1 HEATER
</ 171 T 2 POWER | 'or Fan
Contact form diagram: zz=
E Xl (Characteristic)
1. 3¢t ALYX|7} B2E|0] USLIC 2. S|EtE, ez E2|= USLICH

(E3 e AR S2 HER
TM5He HAHZ20| gl&LICt)
Adhered with toggle switch for using of circuit selecting.

BEX51IH 3I2E We have the two type of thermostat for heater

and cooling fan.

Thermostat Heater

Thermostat

Fan

81

RTM—90F3S
RTM—50F3S fmmm}

L
N

Example of connection ZMx=

MODEL 2 | ME | =0| IYE e 2EHY | 2TH | HojEit | H|D
Width | Length|Height|  Attachment hole e e B ) LI T
RTM—-90H3S| 33 | 99 a 90 or35mmDINrail  |AC250V.5A| 0~90TC | £5TC 7C |5eme
RTM-50H3S| 33 | 99 41 900or35mmDIN rail  |AC250V,5A =10~50C| £5TC 7°C | heater
RTM—90F3S| 33 | 99 41 900or35mmDINrail  |AC250V,5A| 0~90C | £5TC Fae 3
RTM-50F3S| 33 | 99 41 900or35mmDINrail  [AC250V,5A =10~50C| £5TC 7C fan
MBZIIRE| AIBFIIEE | HERE | B | G | BHEE | DEEE | omoix|  oF
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug| Certification
PC(Polycarbonate)
—20~907C| 30~80% RH|—-20~907C| 56g |UL—94 V2| M35X8 | M4xX10 | 1.5-4Y KC
AN THE

% HiZEE CONTROL PANELO= 2EHP| —10°C ~ 50°C =H7|E AL AHEELICE
We prefer the temp range of control panel is —10~50C.
% T U719 &4 W A or XL TS|t @& = 27|50 A8 FeolE ClF 28 QUTFX|E RO ALEOp Q.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 11




lihermostaty L EREEEEEL T

ry _
‘r
V] F( g ]
g P ¥ PIOUTTURnny .
| . ® 9 P ) }4
i B g
l‘:fi} T W 3590 ‘ot
| \ \ : ‘| | O (; = 24
[ - 1
Y} e
1
i 1 2 .
Contact form diagram: &2z2=
E Xl (Characteristic)
1. 2t AQYX|7} B0 USLICt 2. S|EIE, 822 E2|=|0 U&L|CH,
(EZ2 MEL AR 52 HE2 HEGIH SIZE We have the two type of thermostat for heater
TMEH= HAZE0| GELICE) and cooling fan.
Adhered with toggle switch for using of circuit selecting.
Thermostat Heater Thermostat Fan
RTM—90H2S RTM-90F2S o~
RTM-50H2S fe= RTM-50F2S f==1
ECO4 EQO4
N N
Example of connection ZME
MODEL 2 | M2 | =0 I1¥E M= 2EHS | 2EHI | HojHEzt  H|o
Width Length Height  Attachmenthole | QJating ~ Teme  femp | Tmo.' Note
RTM-90H2S| 33 | 99 41 900or35mmDINrail  |AC250V,5A] 0~90C | £5C 7C |5Epig
RTM-50H2S| 33 | 99 41 90 or 35mmDINrail  |AC250V,5A —10~50C | *£5°C 7°C | heater

RTM—90F2S5| 33 | 99 41 900r35mmDINral  |AC250V,5A 0~90C | =5C | 7C | gxg

7C fan

RTM-50F2S| 33 | 99 41 90or 35mmDINrail  |AC250V,5A| —10~50C | =5TC

ASZOE | AIBZNSE | ERE | 3T | ME | CEE | DHEE
Ambient temp | Relative humidity | Custody temp | Weight | Case meterials | Terminal bolt | Attachment bolt

PC(Polycarbonate)
—20~90°C| 30~80% RH|—20~90°C| 56g |UL-94 V-2 M35X8 | M4x10
HAM TR

UEICIR} S
Termianl lug| Certification

1.5-4Y KC

% HiZIHE CONTROL PANELO= 2= —10°C ~ 50°C Z=FH7|E AFS HEELICH
We prefer the temp range of control panel is —10~507C.

x FUTHFHI1719 &7 X T et X oo 22 5= 2171500 A2 B 20l= C1F 2 2 PP XIS FAOI] Arg ot L.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

12 RUN ELECTRONICS




100

N

e
65

L1

&
O
=)

1. 2 3

COM FAN HEATER
(NO)

(NC)

Contact form diagram: #2=

B

MEE Hs - WED, M7, XAisH7|, 248 AHEE - SHE 7|
Thermostat Heater Thermostat Fan
O @ Ef;ij
Q; g;
L 123 L 123
N N
Example of connection ZMT
MODEL IR | MZ2 | =0 | 1¥E He Sensor Size 2EHY | 2EHA| Mo HXH [T
Width| Lengih Height| Atachent]  Rating, - ical 1] 22l 0s2olL] 1SR | saramfor | hystankss| Note
RSB-30 | 65 [100 | 60 82 [AC250V,16A| 1Tm | 5.8 [ 124mm|-30~30TC| £5C| 7TC
RSB-50 | 65 [100 | 60 82 |AC250V,16A| 1m | 5.8@ |124mm| 0~50C | £5°C| 7°C
RSB—90 | 65 [100 | 60 82 |AC250V,16A| 1m | 6@ | 74mm | 0~90C | £5°C| 7°C
RSB-120 | 65 |100 | 60 82 |AC250V,16A| 1m | 5.8@ | 65mm | 0~120°C | £6°C| 10°C
RSB-320 | 65 |100 | 60 82 |AC250V,16A| 1m | 3@ |168mm|50~320C|=10°C| 30°C
MEF2E | MEFHERE | B&2: | 58 THE IHEEE UZITIR} ol
Ambient temp | Relative humidity | Custody temp | Weight |Case meterials | Attachment bolt Termianl lug Certification
—20~60C | 30~80% RH| —20~60°C | 120g ABS MAX10 | oF2E 250EtK} KC

% Hi T CONTROL PANELOl= 2532 —10C ~ 50C =H7|E AKS HERLICH
We prefer the temp range of control panel is —10~50C.
% T U719 &4 W Aot XA TS|t 23 E = 27150 A8 FeolE ClF 28 QUTFA|E RO ALE i Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again,

RUN ELECTRONICS 13




lihermostaty L NE =S

ry

o

— & THERMOSTAT & — o
(<o)
&
« 0\
(-.*C,Wr (’) E \ ~

37.5
3
T{
)
-
d
280

(1= 242])

M
(12 228l

30.0,155
l

SIS
iz
Sl o 1 2
8 9 ragf izt COM FAN HEATER
i 1L (NC) (NO)

&l (Characteristic)

1=
i |
1, AR WS - WA, HK|, We4T|, RSB, MIISIE, JARE, 245 Mg - S 87

Ot

Thermostat Heater Thermostat Fan
L ﬂ L 1|23
N N
Example of connection ZMT
MODEL IR M2 | &0 1¥E HE Sensor Size 2EHY  22HA HOojHA HjD

Width Length Height Atachment  Rating, acy ] 2D MAr0I)] 1STIR | 5oy | nyainlis| Note
= 375 56 | 30 28 |AC250V,16A| 1m | 5.8@ | 124mm|-30~30C| £5C| 7°C
RS-50 375 56 | 30 28 |AC250V,16A| 1m | 5.8@|124mm| 0~50C | £5C| 7TC
RS-90 375 56 | 30 28 |AC250V,16A) 1m | 6@ | 74mm | 0~90C | £5C| 7TC
RS—-120 |37.5/ 56 | 30 28 |AC250V,16A) 1m | 5.8@ | 65mm | 0~120C | £6°C| 10TC
RS=3208 375 56 | 30 28 |AC250V,16A 1m | 3@ |168mm|50~320C £10°C| 30C

ANEZYRE | MBFOSE | HER2E | 3T | ME Ink=15 REfEX} oz
Ambient temp | Relative humidity | Custody temp | Weight |Case meterials | Attachment bolt Termianl lug Certification

—20~60°C | 30~80% RH | —20~60°C | 849 ABS M4 X8 o2 250EAL KC

% HfZIHE CONTROL PANELO|l= 2E/%2| —10°C ~ 50°C ZE7|& AHE HZERLI|C
We prefer the temp range of control panel is —10~507C.

x FUTEFWI|7[9] 244 W WTOT XL I3[ 7| 2 2 &= 717|500 A8 ¥ F 20l = ClF 2% QHAY XS FAIOI0] AR OpM| Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

14 RUN ELECTRONICS




Iiks@i?@mﬂ@‘ﬁ’@m}) &['r{t!mﬂdmy

A 2F - 2%

l__II_

45

105

i
™
r.

=
T.B

—T T 1 ]2 |3 |4
< 60 > POWER HEATER
°

Contact form diagram: zz=

&

E Xl (Characteristic)

1. Q2 R HA| YT £ S2 EA| Y F5

It has input power lamp and output operation indicated lamp.
2. DC12~24V, DCA48V F=Z At
DC12~24V, DC48V Qrder production

3.t Eh LR KM E
Use to only auto control panel in the switch box.

Temp Hum|d|ty Heater

OUTPUT POWER — ~
Q@ Low A A High
Temp Hum
Selling Selling
L
N
Example of connection &&= OUTPUT POWER (&=2F2)
vopeL | | ME| =01 n3E Yy | EUNY | MR |2oATHY RCETY MOEA H|Z
! . Input t ut Ratm Temp,Hum | Temp,Hum| Temp,Hu
Widih  Lengt Height| Attachment hole | voltage Tp current | range | setgor Lrsi%res{g Note

g . o o AC250V.5A[-10~50C| £3C | 3°C
RHC—90 | 60 |105| 45 [51%800r 35mmDIN rai|AC/DC100~265V [AC/DC100~265V DC250V 22| 30~0% |- 7%RH | 3%RH

MEFARE | AIBFRE ARREHY | ¥ HE CXlEE | IHEE | YR} rd
Ambient temp | Relative humidity |Power Consumption| Weight | Case meterials | Terminal bolt | Attachment bolt | Termianl lug| Certification
PC(Polycarbonate)
10~60°C |30~80% RH 2VA 116g |UL—94 V2| M3X6 M4 X 10 1:6~3Y¥
A xR
% HIZEEE XISKI0] Tl LS RIO{ 020t ALZSHMIL.

Use to only auto control panel in the switch box.
% T U719 &4 W A or XL TS|t @& = 27|50 A8 FeolE ClF 28 QUTFX|E RO ALEOp Q.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use

safety device over again.

RUN ELECTRONICS 15




DigitaliTempl&iHumidity/Controller;

IZIJKI"E* =2k - g5k 23

ROOM SENSOR
RSS-300

116

38 ,‘I

68

NO NO NO NO
1112 10 308,508, 70 90
]85 = .. 2040608010(3
I I |
2|4 6|80 [13[a égglz;
33y <
-

Contact form diagram: 2=

E Xl (Characteristic)
1. BEEE Thdl L " M| Use to only auto control panel in the switch box.
®@ Low k ol High
A JIEE 0 55 7o%01 BE &
Setling
e | W2 T?ﬁ %‘ff ?T @f
TA Szt 25 1000t EE SHEIER) L
setig POWER
@® k Cour Ny N
Low igh
TA Izt BECON HE S
Seting ;EQTE”‘HEATERH FAN ” ARl
I A, T NN
o A =2 socoms oot @ sy Example of connection Z )ﬂE
YMBC! Low Temp High Temp
L Setting Setling
OUTPUT OPERATION (E2EH)
ITEM PERFORMANCE SYMBOLS
212 ¥ (Input Voltage) AC/DC100V~265V 50Hz~60Hz @ @
HH =2 (Control Output) AC250V 5A Relay 1C (Humidity) @ @
Hlof =21 (Control Output) AC250V 5A Relay 1C (Heater) ® ®
H|of &2 (Control OUtput) AC250V 5A Relay 1C (FAN) @
H| =2 (Control OUtput) AC250V 5A Relay 1C (ALARM) (©)
&S5 MIA (Humidity Sensor) Polymer Relative (@) ®
2 MM (Temp Sensor) PT 100Q @
255 Hel(Range for Temp & Humidity Range) | —40°C ~ 100°C, 20%RH ~ 99%RH
HA|EHA] (Setting Method) 7 Segment LED Display
HI{EEA] (Control Method) ON/OFF Control (Contact Relay)
A8 F2| 2= (Ambient Temp) —10°C ~ 80°C (T, ZY=|X| 2 AEH)
A2 £ &= (Ambient Humidity) 35%RH ~ 85%RH (T, 10C~40°CUA AF2)
2 Hx} (Tolerance Temp) +1C
&&= TX} (Tolerance Humidity) +5%RH
A2F2 (Power Consumption) 3VA
MODEL 712 | M2 | 0| | 1H¥E Baes | =2 ME | cxiEE | IMEE | AR | E H|Z
Width | Length| Height Aﬂﬁmﬂ Custody temp | Weight | <252 | Terminal bolt | Atiachment bolt | Termianl lug | Certicaion Note
RD-300 | 73 116 | €8 | 4y, | —20~00C | 200g | ABS | M3X6 | MAX10 | plTamly | CE | A S
107 | o 15-3Y HAEE 25
% HEZIEE XESH|O] EHA LHE MO 220 AIZSIMIR.
Use to only auto control panel in the switch box.
% FUISHFWI|Z[2] &4 9 I of XL I3 7t @ 2 &= 217|500 A ¥ F 2ol e 015 2 = QPG AIE BAIOIo] AR opA| Q.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use

safety device over again.

16 RUN ELECTRONICS




Digital

C|X|E 2% - xx-|

RD-300L, 300 I1|§A}gf=_1 EgM (RD-300L, 300 Instruction Manual)

B X ZXHEH (Parameter Setting)
¢ 2 - S AT "HHH (Temp & Humidity Setting)

S &= A (Humidity)

M ST TA| (Set humidity)

up/down 7|2 0250 A& SILICT (Set using a up/down key.)

OUTH B
AH 2c Al (Set Temp)

up/down 7[Z 0|85t0 SEFILICE (Set using a up/down key.)

7122k 70% (20% ~ 99%) (Default value 70% (20% ~ 99%))

HEATER
A FAN 2= HA| (Set FAN Temp)

up/down 7|Z 0|85t0] SEEILICE (Set using a up/down key.)

7122L10°C (-40C ~ 100°C) (Default value 107 (-40°C ~ 1007TC))

FAN

MH ALARM Hi 2 ILA| (Set ALARM Hi Temp value indicator.)
up/down 7|5 02510 A&EHLICE (Set using a up/down key.)

7122k 30°C (-40°C ~ 100°C) (Default value 30°C (-40C ~ 100°C))

74 ALARM Lo 25 BA| (Set ALARM Low Temp value indicator.)
up/down 7| 0|25H0H AEEILICE (Set using a up/down key.)

7122} 50°C (-40°C ~ 100°C) (Default value 50°C (-40°C ~ 100°C))

7122t -107C (-40°C ~ 1007C) (Default value -10°C (-40°C ~ 100°C))

& T2 73 MX HiH (SETF| 50|14 F2M|2)

Press the SET key continuously 5sec., Parameter compositon

M| Xt &= MH 7|5 (Hysteresis humidity)
HEHY 1~ 20%
(Setting range 1~ 20%)

I E 2%
(Default value 2%)
M| Mxt 2= 8K 7|5 (Hysteresis Temp)

HE 1~ 20T
(Setting range 1~ 207C)

J1Ea 2T
(Default value 2°C)
M X FAN 2 HH 7|5 (Hysteresis FAN Temp)

HY Y1~ 20T
(Setting range 1~ 20°C)

JlEE2c
(Default value 2°C)
M| B U 2 MM 7|5 (Hysteresis ALARM Temp)

4 H 1~ 20T
(Setting range 1~ 20°C)

71824 2T
(Default value 2°C)
HA 55 28 4H 7|5 (Adjust Input humidity)

HE HY-10~10%
(Setting range -10 ~ 10%)

7128 0%
(Default value 0%)
BA 25 28 84X 7|5 (Adjust Input Temp)

HH He -10~10T
(Setting range -10 ~ 10°C)

7124 0°C
(Default value 0C)

& £ M AlZF (Manual output setting time)
’5""%”\ 0~59&

(Setting range 0 ~ 59 minutes) -

7124 0.1
(Default value 0.A)

$= £ A A|7H (Manual output setting time)
ﬂx" %QTl 0~ 24A| 2t
(Setting range 0 ~ 24 hour)

7124t 0.h
(Default value 0.h)
&5 22 OFFRE 84X s (3

(Humidity output to off temp setting function)

HHH2 1 ~ 100 (Setting range 1 ~ 100°C)

128 100C
(Default value 1007C)
G 55 OFFMO{HA 25 HH V|s

(Humidity output to off temp setting hysteresis temp)
AMH e 1~ 20T (Settingrange 1 ~20T)

J1&2a 2T
(Default value 2°C)

sEEYNE/NELE @ @
(Humidity output dhE/hE Set)

7124 dhE
(Default value dhE)

2z 235g/28 88 B B
(Temp output Heating/Cooling Set)

71244 hEt

(Default value hEt)
zz Mer 71z 41 @ G0

%f.:f aé“. /TWIN TIMER &2 MeY

(Select the output function ALARM/TWIN TIMER) _

7I2al Arn
(Default value Arm)
TWIN TIMERZ S Al7H HE(ON TIME)

(Set the output Twin Time)
HEHL1 ~59 %
(Setting range 1 ~ 59 sec.)

7124 1.t
(Default value 1.t)
TWIN TIMERZZ Al7H HE(ON TIME)

(Set the output Twin Time)
A4 M0~59 8 ]
(Setting range O ~ 59 minutes) =3 0.
(Default value 0.A )
TWIN TIMERZE] AlZt ME(ON TIME)
(Set the output Twin Time)

HE H0-~24 A

(Setting range O ~ 24 hour)

7124 0.h
(Default value 0.h)
TWIN TIMERZE AlZt AE(OFF TIME)
(Set the output Twin Time)
HHYHY1~59=
(Setting range 1 ~ 59 sec.) =21t

(Default value 1.1)

TWIN TIMERZZ] A|ZF HE(OFF TIME)
(Set the output Twm Time)
dHEN0~592

(Setting range 0 ~ 59 minutes) 1224 0. A
{Defaultvalue 0.m )

TWIN TIMERZE AlZt AE(OFF TIME)
(Set the output Twin Time)

HEHY 0~24 A

(Setting range O ~ 24 hour)

71220
(Default Vatue 0.h)

HY UE SO Al =/ HHieR 88 2 MY

(Initial setting values to be Set and Storage)

7124 NO
(Default value NO)

RUN ELECTRONICS 17




DigitaliHumidity/Controller;

CXE S ZH7|

107
116

=1

68

NO
1112 1o 3oe50 70 Qo
1123 2[9 .. 20 4oe 60 8o 100

nH

N
B
@D
00}
=)
H3IMOd
ALIQIN

Contact form diagram: 2=

E Al (Characteristic)

1. BfEEE El LR K E
Use to only auto control panel in the switch box.

@D |, oo ™
A sz e oo w2
SYMEOLS Sfe';’h”;g
OUTPUT OPERATION (S21%4%) Example of connection ZME
ITEM PERFORMANCE SYMBOLS

2124 XML (Input Voltage) AC/DC100V~265V 50Hz~60Hz @® @
Hlof =2 (Control Output) AC250V 5A Relay 1C (Humidity) ® @
SE MM (Humidity Sensor) Polymer Relative m ®
S #H2| (Range for Temp & Humidity Range) | 20%RH ~ 99%RH
HA|2A] (Setting Method) 7 Segment LED Display
HoH4A! (Control Method) ON/OFF Control (Contact Relay)
A2 F2| 2 (Ambient Temp) —10°C ~ 80°C (B, ZY=|X| 42 AEl)
A2 F2| B (Ambient Humidity) 35%RH ~ 85%RH (Tt 10C~40CLIA ALE)
&&= Mx} (Tolerance Humidity) +5%RH
A2 X2 (Power Consumption) 3VA

MODEL 712 M2 | 80| 1¥E | mmes | ¥ ME OXEE DYEE | YO A5 | HD
Width|Length Height| At4cien’ | Custody temp Weight me%srgls Terminal bolt| Atiachment bot | Termianl lug| Cerficin] ~ Note

RD-200 | 73 |116 | 68 | (07 -20~90°C 1900 ABS M3X6 MAX 10| il CE |HIA 2Rl

or 3omm DN rail
— 107  |_sn~0n° 1.5—-3Y MM EE HA
RD-200L 73 |[116| 68 o B DN 20~90°C 235g| ABS |M3X6|M4Xx10 PN 7.50HA) CE RSS200
% HiZEE XESH|0f EH LR HIO{E2 20 ALZSHMIR.

Use to only auto control panel in the switch box.

x FUTHFHI1719 &7 X T et X oo 22 5= 2171500 A2 B 20l= C1F 2 2 PP XIS FAOI] Arg ot L.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

18 RUN ELECTRONICS




CIXE S ZE7|

RD-200L, 200 MISAIEEHA| (RD-200L, 200 Instruction Manual)

B XZXHHEH (Parameter Setting)
¢ 5= AF HHH (Humidity Setting)

B S BA| (Humidity)

AE S BA| (Set humidity)
up/down 7|2 0|25t HHESILICT, (Set using a up/down key.)
] OUTH HE

7|22 70% (20% ~ 99%) (Default value 70% (20% ~ 99%))

¢ T2 MX diH (SETF| 5X014 F2MIR)
Press the SET key continuously 5sec., Parameter compositon
HH Mt &5 85 7|5 (Hysteresis humidity)

HY A1~ 20%
(Setting range 1~ 20%)

7128t 2%
(Default value 2%)

BEA &5 B 84X 7|5 (Adjust Input humidity)
HE HY-10~10%
(Setting range -10 ~ 10%)

7124 0%
(Default value 0%)

$= £2 4 AlZF (Manual output setting time)

gx-itgo‘ 0~598

(Setting range O ~ 59 minutes) -
s 7122 0. A
(Default value 0.A)

& £ M AlZF (Manual output setting time)
gx-i %Ol 0~ 24A|7F
(Setting range 0 ~ 24 hour)

7122 0.h
(Default value 0.h)
= -
sz a5 E @ @ & X 88
{Humidity output dhE/hE Set)
2t 2xt [ =
712 dhE

(Default value dhE)

F - | il Sot A 27| HEReE 4E 2 MY
set (Initial setting values to be Set and Storage)

722N
(Default Value NO)

I & mMm m O O o »

T O UV O Z=E=r X<«
N < X s < c/ 4w

RUN ELECTRONICS 19




E_lxIEI- 2 XX7

107
116

NO NO NO
113/ 65|79 10 30 508 70 90.;
20 40 Boe Soe100
2|4 6|80 [13[4 8 §E2¢
m m g

A b

Contact form diagram: 2=

E Xl (Characteristic)

1. HiEEE ohdl LHE M| Use to only auto control panel in the switch box.

®® | Ll i
S_L%ili%. 2= 10°colE TY EEER) @ <?> @ @
?® | [ or . png — ;
TEAmDuga. 2000kt HH SH2) K 9| Seneor
Selting
- N
estan - w%m HQAW:FI toRl, —10ols el e
Seting Seting Example of connection ZME
OUTPUT OPERATION (S F&)

ITEM PERFORMANCE SYMBOLS
el M2 (Input Voltage) AC/DC100V~265V 50Hz~60Hz @ @
H|o{ =2 (Control Output) AC250V 5A Relay 1C (Heater) ® ®
HO =2 (Control OUtput) AC250V 5A Relay 1C (FAN) @
Ho| =3 (Control OUtput) AC250V 5A Relay 1C (ALARM) @
2o MM (Temp Sensor) PT 100Q ®
2 Hel (Range for Temp & Humidity Range) | —40°C ~ 100°C
HA|HEA! (Setting Method) 7 Segment LED Display
HIEHA] (Control Method) ON/OFF Control (Contact Relay)

A2 2| 2= (Ambient Temp) —10°C ~ 80°C (&, ZYUEX| %S MEH)

A2 F92| 5= (Ambient Humidity) 35%RH ~ 85%RH (Tt 10°C~40°CLHA AH)
2 Hx} (Tolerance Temp) +1%¢

AE2X3 (Power Consumption) 3VA

N2 | M2 | g0l | IBE | pmec  zu | ME oxe pAEE | QSR AZ | bz

LSl Width | Length| Height Attment Custody temp | Weight mcésr%s Terminal bolt | Afiachment bok | Termianl lug | Ceficaion| ~ Note
107 = ° 1_5_3\/

RD-100 | 73 | 116 | 68 | oy | ~207~90°C | 1929 ABS | M3X6 | MAX10 | o5y | CE | HIM IS
107 | _oneon® 1.5-3Y AN Ee S

RD—100L | 73 | 116 | 68 | oy | —20~90°C | 2409 | ABS | M3X6 | MAX10 | s | CE | “psstion

% HEZIEE XESHO| i iR MO8 20 AR26HM|I2.
Use to only auto control panel in the switch box,
 FUOE W29 &4 U YTl AL W37 2 2{E]= 7|7 50l AR Y F 2o = 0lF o = QAP K| E HAISIO] AL &SP Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

20 RUN ELECTRONICS




DigitalilemplControllery

CIX|E 2= ZF7|

RD-100L, 100 M|IZEAI2MEHA] (RD-100L, 100 Instruction Manual)

B XZXHHEH (Parameter Setting)
& 25 AMH "I (Temp Setting)

S 2= HA| (Temp)

AH 25 BA|(Set Temp)
up/down 7| O|2510 AFFILICE (Set using a up/down key.)
; HEATER

A% FAN 2 ZA| (Set FAN Temp)

up/down 7|& 0|=2o10 MELICE (Set using a up/down key.)
! FAN

AHE ALARM Hi 2% BA| (Set ALARM Hi Temp value indicator.)
up/down 7|Z 08510 MHELICE (Set using a up/down key.)

7|22 10°C (-40°C ~ 100°C) (Default value 10°C (-40°C ~ 100°C))

7122k 30°C (-40°C ~ 100°C) (Default value 30°C (-40C ~ 100C))

7|84 50T (-40°C ~ 1007C) (Default value 507 (-40°C ~ 100°C))

4’4 ALARM Lo 2% BA| (Set ALARM Lo Temp value indicator.)
up/down 7|2 0850 MESILICT (Set using a up/down key.)
n

7123k -10°C (-40°C ~ 100°C) (Default value =107 (-40°C ~100C))

& D273 MX HHH (SET7| 52014 F2MR)
Press the SET key continuously 5sec., Parameter compositon

M MAt 2 X 7|5 (Hysteresis Temp)
HY Y1~ 20T
(Setting range 1~ 207C)

71824 2°C
(Default value 27C)
HO WXt FAN 2% 473 7|5 (Hysteresis FAN Temp)

HH EHe 1~ 20T
(Setting range 1~ 207C)

Il g 2T
(Default value 2°C)
M MXF U 2 MK 7|5 (Hysteresis ALARM Temp)

HE He 1~ 20T
(Setting range 1~ 207C)

1&a 2T
(Default value 2°C)

BA 2 24 HH 7|5 (Adjust Input Temp)
HH HY -10~10T
(Setting range -10 ~ 10C)

7124 0°C
(Default value 0C)
$= £ A A|7H (Manual output setting time)
HHEHL 0~ 598

(Setting range 0 ~ 59 minutes)

71=0. A
(Default value 0.A)
$= £ MH Al7H (Manual output setting time)

HH HR 0~ 24A|2E

(Setting range 0 ~ 24 hour)

7124t 0.h
(Default value 0.h)
2L S 5lg/2d 43 @ @

(Temp output Heating/Cooling Set)

71&% hEt
(Default value hEt)
sz 875 a8 @ ©

U =2/ TWIN TIMER &3 ME

(Select the output function ALARM/TWIN TIMER)

In J=RAr A
(Default value Arm )

TWIN TIMERZZ AlZE HZ(ON TIME)
(Set the output Twin Time)
’éﬁ“ﬁ%’—\ 1~59=

(Setting range 1 ~ 59 sec.) 7127 1t

(Default value 1.t)
TWIN TIMERZZ AlZE HZ(ON TIME)
(Set the output Twin Time)
HYHA0~59 2
(Setting range O ~ 59 minutes) =3 0. A

(Default value 0.A )

TWIN TIMERZE A2t HE(ON TIME)
(Set the output Twin Time)

HE HY 0~24 Al

(Setting range O ~ 24 hour)

7|24 0.h
(Default value 0.h)

TWIN TIMERZ3 A|ZF HE(OFF TIME)

(Set the output Twin Time)

HEHY1~59=

(Setting range 1 ~ 59 sec.)

Jl2ak 1t
(Default value 1.1)
TWIN TIMERZE A|Zt HE(OFF TIME)
(Set the output Twin Time)
Eé’g HHO0~59
Setting range 0 ~ 59 minutes) -
TEIE ! 7123 0.A

(Default value 0./ )

TWIN TIMERES AlZH HE(OFF TIME)
(Set the output Twin Time)

HEHS 024 Al

(Setting range O ~ 24 hour)

7124 0.h
(Default value 0.h)

HEH US Sot Al E7| HEACE 43 ¥ HE
(Initial setting values to be Set and Storage)

7|24 NO
(Default value NO)

RUN ELECTRONICS 21




DigitaljTiempl&iHumidity/Controller

ﬂxl

= —y =3

o 2 &5 EH7|(HYE)

Dimension
154

1ol - 7| SAA B

® @ sl ©do

o § [ -
8 § oooo X
]
— 109
Pannel Processing
o . i
| |
132 135
M

=J=pNlv ab Wt
iFAl 30E% HH off €U

A D b A DA A D

E

.:JLIEI Aol Fef stMR.

e W v T T B
D@10 @|® E|® ®|@ @|® @|® @
Example of connection 24k
E x] H 1 \TJ\Z K M/ /I High ‘j/@ Le ol High
=1 o (Chara cteristi C) TeAm;I‘E""' : 25 30Tl Al T £ A= 22 200 ol
1. Hola| 2317|8 v =
InCUbaior for ChiCkS 31\4/ ’ = A 712 25 30706 Al HH 29 i :9/® . L\M \\i km \1 ALM \i
2. 52 ,OJ-ﬁ-H'HO | E.‘I-g— i : STLarRAl S0 T OFF. RBH  RUSH PUSH  PLBH AKGH  PUGH
Incubator for animals 5@ A we | _for] [or] [or]
L Hen AA AA AA

3. AZ H5T|I2
Food and Fermentation appointed

HUM
Setting

% LMo ZZL SHN20| XM UHS|H MIA of2{7f YAISIY E
Moisture condensation or water droplets on the sensor directly to bear on the special care we put sensors do bad happens

A 7= = 60%0(at Al T E9 SYMBOLS

OUT PUT POWER (&

OGN OFF ON  OFF ON  OFF

ZI=%t 1 ONIBOE), OFF(1803)

Ea)

29| F2oqIQ.

ITEM PERFORMANCE SYMBOLS

2124 MY (Input Voltage) AC/DC100V ~ 265V  50Hz ~ 60Hz @@
2.5 He (Temp & Humidity Range) —15C ~ 407C, 20%RH ~ 99%RH
T A4 (Setting Method) 7 Segment LED Display
H|0{EtA! (Control Method) ON/OFF Control (@@ 221 £2 Input Voltage Output)

AI2 2| 2 (Ambient Temp) —-10C ~ 80T (Tt AYEIX| G2 MEH)
M2 =2 & (Ambient Humidity) 35%RH ~ 85%RH
20 WX} (Precision Temp) +1C
& X} (Precision Humidity) +5% RH
H|ol &3 (Control Qutput) AC250V 5A (Heater) Default value(7 |22} —Heaing(3IE!) | (1) @) o Y2HYE2 (Note: Inpul valtage outpul)
X0 =23 (Control Qutput) AC250V 5A (Heater FAN) off delay Time A% @) @) 0| UHAUZ (Note:Input vallage outpul)
H|0{ =2 (Control OUtput) AC250V 5A (Humidity) Defaul valuel7| £ 24t—Humidfication(7) | &) @ 9 UZHUE (Note: Input vallage outpu)
A0 =3 (Control QUtput) AC250V 5A (FAN) @ @) 79 U2HAUZ (Note: Input vallage output)
X £ (Control OUtput) AC250V 5A (MS) (@ (0 20): YHLE (Note: Input vallage outpul)
H|0of Z21 (Control OUtput) AC250V 5A (TWIN TIMER) @ @ 39 UZHYUE (Note: nput valage outpul)

2/5% HM (Temp & Humidity Sensor)

NTC & Resistive Sensor

CONNECTOE

AFE2XE (Power Consumption)

O —"

SVA

% FUOHFHII[O 4 S 9T S X o W32 @ &= 2171 50l A8 B¢

ofi= 0|5 O 2 QHHAX|S BAIO}O] ALSOPQ.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use

safety device over again.

MODEL 712 | M2 | §0| | IHE | Bpe: | HE HX=EE | YT | AS H|Z
Wicth | Length| Height | Atachment | Custody temp | Weight | Case meterials | Terminal bott | Termianl lug | Ceffcsi|  Note

: o dzIeroiztm 5 A xS
RD-500 | 154 | 86 | 123 [135X75| —20~90°C | 725¢g SPCC M3X6 | 1.5-3Y (50cm)

22 RUN ELECTRONICS




ilemp}&{Humidity/Controller;

CIXE 25 - S ZHI|(IHYS)

RD-500 HIEAI2AMEHA (RD-500 Instruction Manual)

FEH

ZEHMH (Parameter Setting)
A
= =

(Temp & Humidity Setting)

H
o

SR S BA| (Humidity)
S 25 BA (Temp)

MH ST TA| (Set humidity)
up/down 7|8 0|& 504 HHELICY, (Set using a up/down key.)

ouTH g=

MM 20 HA| (Set Temp)
up/down 7|2 0|&5H0d MRS T}, (Set using a up/down key.)

2122 60.0% (20.0% ~ 99.9%)
(Default value 60.0% (20.0% ~ 99.9%))

71234 30.0C (-15.0C ~ 40.07C)

ouTH E=

(Default value 30.0°C (-15.0 ~ 40.0C))

& T2 MX "HH (SETF| 5X0[4 S2M2)

Press the SET key continuously 5sec., Parameter compositon

HO MAt &5 HH 7|5 (Hysteresis humidity)
HEHL1.0 ~ 20.0%

(Setting range 1.0 ~ 20.0%)

7124 2.0%
(Default value 2.0%)
HO WA 2 MH 7|5 (Hysteresis Temp)

HHEH21.0 ~ 20.0C

(Setting range 1.0 ~ 20.0°C)

124 2.0
(Default value 2.0C)
HM & 2 83 7|55 (Adjust Input humidity)
HHH2-10.0~10.0%
(Setting range -10.0 ~ 10.0%)

7|24 0.0
(Default value 0.0C)
BA 25 BF M3 7|5 (Adjust Input Temp)

S 2= MH 7|5 (Set temp cooling fan) @

HH4 49 0.0 ~ 40.0C

(Setting range 0.0 ~ 40.0°C)

7|24 20.0TC
(Default value 20.0C)

Q@ @
7127 30 SEC
(Default value 30 SEC)

7|24k he
(Default value hE)

5|6 ¢l OFF DELAY TIME 84X 7|5
(Set off delay time heating fan)
HH #H?| 30 ~ 900 SEC

(Setting range 30 ~ 900 SEC)

s &8 Na/iks g8 s
(Humidity output dhE/hE Set)

A 2 -10.0~10.0C
(Setting range -10,0 ~ 10,0C)

7123 0.0
(Default value 0.0C)
S of0] Y HE 7|5 (Set alarm hi humidity)

HHH220.0~99.9%
(Setting range 20.0 ~ 99.9%)

7124 80.0%
(Default value 80.0%)
SC 22 U2 MH 7|5 (Set alarm low humidity)

HH H220.0~99.9%

(Setting range 20.0 ~ 99.9%)

124 37.0%
(Default value 37.0%)
2 510 A& 4™ 7|5 (Set alarm hi temp)

HEH2(0.0 ~ 40.0C

(Setting range 0.0 ~ 40.0C)

7124 37.0C
(Default value 37.0C)
2C 22 A MH 7|5 (Set alarm low temp)

Y H20.0~40.0C

(Setting range 0.0 ~ 40.0°C)

7|24 20.0T
(Default value 20.0°C)

2 &Y 5E/2Y 8Y s
{Temp output Heating/Cooling Set)
% &g bt
(Default value hEt)
(TWIN TIMEREH A7t Eg%;(ONnﬂME)
Set twin timer timering(on time
HE P 1~ 900 SEE i ®
(Setting range 1 ~ 900 SEQ) 7122} 60 SEC
= Default value 60 SEC
TWIN TIMERZE A|Zt &E(OFF TIME) RO )
(Set twin timer timering(off time))
S #2 1 ~ 900 MIN M ®

(Setting range 1 ~ 900 MIN)

7128k 180 MIN
(Default value 180 MIN)
HHUS SoA =7| HEiies 48 ¥ ME

(Initial setting values to be Set and Storage)

7|24k NO

(Default value NOJ)

RUN ELECTRONICS 23




DigitaljlemplelHumidity[Controller

I?-IJ(I

= —y =3

3 OO
0000

TEMPEHUMIDITY CONTROLLER
MODEL : RD—100X

S 2a ZHI|(HYY)

Dimension
154

|0l - X8| SHA| B
@ @ sle walo

A D b A A MDA

8 § oooo X
]
— 109 |
Pannel Processing
o - i
| |
132 135
M

il HHo| 2y =3
iFAl 30E% HH off €U

.:JLIEI Aol Fef stMR.

US";‘n"TSE?‘P lEATER"HE,;"ALE“l Hummicity1 | FAN || ALARM |[Humidity2 W
T T T T 1 1 T 1 1 1 1 1
D O|® ®|® ®|@ ®|@ @|d @] ® @
Example of connection 24k
(=N ‘ot @ |, o] | 0@ our
- O (CharaCterIStlc) . TA 3127 2 30C0lE Al HH &2 ? : A RIE Rig_ﬁc ola :';gh
~er’r\n Temp
[==| H= =3 Setting Seling
Incubator for chicks S - Hah @D | @ A A
A 7123 2 30COlEH Al HH 29 T L b
2. 3= QIFH0|HE SR, Brisssdior i
Incubator for animals ®® SRR ®® | T or -’77|A "
Low - High e 24 = ey
I d} Q_ T ] — e 7123 1 B 30%0|5H A HH £
3. AI le Aﬁ:\. % gE o ol M SYMBOLS o

Food and Fermentation appointed

OUT PUT POWER (&

¥ AEAkIlklo]] ;Hgl_t =) ur o ol III-I unaln:] u-"kl O]IE-]j]- uujmr]_l
Moisture condensation or water droplets on the sensor directly to bear on the special care we put sensors do bad happens

Ea)

29| F2oqIQ.

ITEM PERFORMANCE SYMBOLS
2124 MY (Input Voltage) AC/DC100 ~ 265V 50Hz ~ 60Hz @@
2.5 He (Temp & Humidity Range) —15C ~ 407C, 20%RH ~ 99%RH
HA[EFA] (Setting Method) 7 Segment LED Display
H|0{EtA! (Control Method) ON/OFF Control (@@ 221 £2 Input Voltage Output)

AI2 2| 2 (Ambient Temp) —-10C ~ 80T (Tt AYEIX| G2 MEH)

M2 =2 & (Ambient Humidity) 35%RH ~ 85%RH
20 WX} (Precision Temp) +1C
& X} (Precision Humidity) +5% RH
H|0 =2 (Control Output) AC 250V 5A (Heater) Default value(7[£2H)—Heaing(BIE)) | M) @ 7 UHHUZ (Note: Input vallage output)
X £ (Control Qutput) AC 250V 5A (Heater FAN) off delay Time &% @) @ 9| QHUE (Note: Inpul vallage outpul)
A0 =23 (Control OUtput) AC 250V 5A (Humidity1) Delaull value(7|E2H-Dehunidiicaton(dZ) | &) ® F YHHYUZE (Note: Input vallage output)
A0 =3 (Control QUtput) AC 250V 5A (FAN) (D @) 0| UZHAUZ (Note:Input vallage outpul)
H|0{ = (Control OUtput) AC 250V 5A (Alarm) (©) @0 79 UZHAUZZ (Note: Inpul vallage outpul)
X &3 (Control OUtput) AC 250V 5A (Humidity?2) () @ 2 AHUE (Note: Input vallage outpul)
2/5% HM (Temp & Humidity Sensor) NTC & Resistive Sensor CONNECTOE
MEX3 (Power Consumption) 5VA

% FUOHFHII[O 4 S 9T S X o W32 @ &= 2171 50l A8 B¢

ofi= 0|5 O 2 QHHAX|S BAIO}O] ALSOPQ.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use

safety device over again.

MODEL 712 | ME | 50| | DHE | RuR: | U HE HX=EE | YT | AS H|Z
Wicth | Length| Height | Atachment | Custody temp | Weight | Case meterials | Terminal bott | Termianl lug | Ceffcsi|  Note
- e T 2zl » A x|
RD—-1000 | 154 | 86 | 123 [135X 75| —20~90°C | 7259 SPCC M3 X6 1.5-3Y (100cm)

24 RUN ELECTRONICS




ilempl&{Humidity/Controller

CXE 2 - S ZHI|(IHYY)

RD-1000 M|EAI2MHA| (RD-1000 Instruction Manual)

B X ZHEHH (Parameter Setting)
& 2 - . AFE "HMH (Temp & Humidity Setting)

SR S BA| (Humidity)
S 25 HA| (Temp)

MH ST TA| (Set humidity)
down 7|5 0|26t M HESH T} (Set using a up/down key.)
upidown 7| & SIS i ol SR RSB RUI SOWTEN) oyt 100,080~ S8 5%

OUTH HS (Default value 60.0% (20.0% ~ 99.9%))

HE 20 HA (Set Temp)
up/down 7|2 0|&5H0d MRS T}, (Set using a up/down key.) I1=2t 30.0C (-15.0°C ~ 80.0°C)

HEATER (Default value 30.0C (-15.0 ~ 80.0C))

& T2 MH g (SET7| 5014 F2MI2)
Press the SET key continuously 5sec., Parameter compositon
HA &5 28 H4 7|5 (Adjust Input humidity)

M2 -10.0~10.0%
(Setting range -10.0 ~ 10.0%)

HO Mt 25 A7 7|5 (Hysteresis Temp)
HHEHL1.0 ~ 20.0C
(Setting range 1.0 ~ 20.0T) @ @

7123 0.0T
(Default value 0.0°C)

71234 2.0C
(Default value 2.0C)
&k 2 43 7|5 (Set humidity2)

og 52 5//38 48 ® @ H919] 20,0 99.9%
(Temp output Heating/Cooling Set) p (Setting range 20.0 ~ 99.9%) @ @
r 7123k hEt ‘ 7123k 30.0%

(Default value hEt) Humidity.ch2

2c 510] Y= MH 7|5 (Set alarm hi temp)
HHEHP -15.0 ~80.0C

(Default value 30.0%)
MO WAt &= AH 7|5 (Hysteresis humidity)
HH 1.0 ~ 20.0% @ @

(Setting range -15.0 ~ 80.0C) @ (Setting range 1.0 ~ 20.0%) el S o
7123 80.0C Humidity ch2 ll_fm 2.0% .
(Default value 80.0°C) (Default value 2.0%)
2 22 YT MH 7|5 (Set alarm low temp) s EHHS/NIESEE Vs
Hx @2l T15.0 - 80.0°C © (Humidity output dhe/he sepy @ @

(Setting range —15.0 ~ 80.0°C)

— 7123 heHS)
Humidity ch2 (Default value hE)
HEFYA Z7| Hx| SHAINH AI7EEHON delar TIME)
HH R 1 ~ 600 SEC
(Setting range 1 ~ 600 SEC)

7|29 -15.0C

SIE| #l OFF DELAY TIME &4 7|5 (Default value -15.0%C)

(Set off delay time heating fan)

3 #2930 ~ 900 SEC Q @

(Setting range 30 ~ 900 SEC) 7122 30 SEC
(Default value 30 SEC)

BA 2% 88 M4 7|5 (Adjust Input Temp)

HHEH -2 -10.0~10.0TC

(Setting range -10,0 ~ 10,0C)

7|24k 0 SEC
(Default value 0 SEQ)
S 2z MM 7|5 (Set temp cooling fan)
HH #2| 0.0 ~ 80.0T
(Setting range 0.0 ~ 80.0°C) @

7184 30.0C

(Default value 30.0°C)
S2E MO Mt 2= AX 7|5 (Set temp cooling fan)
HH 1.0 ~ 20.0T
(Setting range 1.0 ~ 20.0°C) @

7123 2.0T

(Default value 2,0°C)

YU sy slg/Ea uy s @
Cooling fan output Heating/Cooling Set)
7|24k het
(Default value hEt)

7123 0.0
(Default value 0.0C)
MO WXL &= 48 7|5 (Hysteresis humidity)
HHEHL(1.0 ~ 20.0%
(Setting range 1.0 ~ 20.0%) ® @

71234 2.0%

Humidity ch1 (Default value 2.0%)

5 55 ME//s 28 0s
(Humidity output dhE/hE Set) ® @
7123 dhE (M&)

Humidity ch1 (Default value dhE)
& 50| Y HMH 7|5 (Set alarm hi humidity) — 1 MEAS S6IA| &7| AEZIO 2 ME 2 KA
HHHS 20.0~99.9% [ iti i
=} @ (Initial setting values to be Set and Storage)
(Setting range 20.0 ~ 99.9%) S22t 99.0% ﬂ:@ 7122 NO
L HA - (=] i ————
idi (Default value NO)
Humidity:ch (Default value 99.9%)

SE 22 U HH 75 (Set alarm low humidity)
MY H9 20,0~ 99.9% o)
(Setting range 20,0 ~ 99.9%)

it 7127 20.0%

Humidity ch! (Default value 20.0%)

RUN ELECTRONICS 25




@1

Ef A xx-l
IZIJEI =S 28k
XEE
> 200 .
,, | 200
)
BE aSEE) 200 g% DEEE 150
000 |—|
o00O®
M
| Fo| - xF7| %’%*M é

S{Chxjol THo| =Y SHELCH ZEo|
offA| 30&2F F# off FLICk

=9l 5tM|2.
/N NN N
HRSLTENE HEATER HEATER| | ]| B[ e e
) El el Lo L
. @@ @@@@ @.@@
% RD—-500B AHM= 22P, 23P 7ICH=E &=
py By
2 200 .
o 200
‘- S aEXAED ’/ | § E"f' 150,
=00 3 oooo
00  E—
ocoe®
Z ._'|E
| 0| - FE7| SXA| SACKIO| HHO| MY SALUCH HO| Fo| HHR
SlEf MY oltA| 30&2F MH off ELCt
A N N N '
HIMTEME IHEATER”HEF':LEH"Hum\dM” FAN ” ALARM ||Hu‘md\rv2||»c'gi%§m
. T 1 ] ] 1 1 1 1 1 1 1 ] ]
. D @@ @|® E|@ @@ @|d® @] @ @
% RD—1000B MHA= 24P, 25P 7ICHE &
E Al (Characteristic)
1. HIZ5IRA, HAXHH S (527t &1

x FOoTFH

= T e

% AEH:[[k[Oﬂ xgl_r '='H|-0 0[ III—! mmluq u[[kl o“a-pr uu}ml-l_{

71719] &4 W 9rt{$t X L 57t @2 5] = 77| 5ol A g
safety device over again

AE3HMIR)

o oo L.

E
(o] ==
Moisture condensation or water droplets on the sensor directly to bear on the special care we put sensors do bad happens
x T —

o= O|F O.F QLK E HLAISIO] AFROH 2
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
MODEL Width Length Height Terminal lug Hl o7
RD-500B 200 200 150 1.25-3Y, 1.25—-M4
RD—1000B 200 200 150 1.25-3Y, 1.25—-M4
26 RUN ELECTRONICS




DigalrEm PR HumyContro U

E.I- é I-I
EIII ol e
Dimension
154
. § w]u] N
& § oooo ~
§ B
109 )
i Pannel Processing
(o X L N
BUZZERSTOP  PEAK Lo
0000 I I
°c 132 | 135 |
TEMP&HUMIDIT‘l CONTROLLER
ODEL : RD-2000 POWER
HEATER HUM  FAN ALARM1 ALARM?2 ALDC100~265
I—o 1 Y |—° | |—° 7 4~20mA 50Hz/60Hz
[ve|eales|oe|esjoe|a@
=
ZA| o™ _
| ol E Example of connection ZME

Dimension
i 154 "
8 m]m|
L 8 oooo =
8 ]
109
Pannel Processing
¥
+ 4
1 T
c [ 132 | 135
TEMP&HUMIDITY CONTROLLER
MODEL : RD-3000 74 A—lE R T 00ER
[ ALARM1 ALARM2 ALARM3 R I T ACJOCIO0 265V
™ %] [° ]4~20mA 4~20mA d~20mA 50/504
blE Bld BI6 UG BIT O] B
=
EA ofH
e Example of connection ZME

E Zl (Characteristic)

1L 2E TR UE 2= HEE

% SEMMo| 224 S'EEC] 2 WO[H MM of2|7t Wi SEO| Folotq Q.

Moisture condensation or water dropleis on the sensor directly to bear on the special care we put sensors do bad happens
% T FHI17[9] &4 W UGS XA TS|t @& = 27|50 A8 Feol= ClF 28 QUTFA|E RO ALEOi Q.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

72 [ M2 | 20| | 2ME | Bpes | Y xHE CIXREE | ATt | U H|3

MODEL | igth Length| Height AW‘ Custody temp |Weight| Case meterials | Terminal bolt | Termianl lug | Cerlfcaion Note
—0~90" ZIRroIZ ¥ A SIS

RD-2000 [ 154 | 86 | 123 |135X75| —20~90°C | 7259 SPCO M3x6 | 1.5-3Y (3M)
—20~90" dZieriz ¥ AN 2AE

RD-3000 | 154 | 86 | 123 |135X75| —20~90°C | 7259 | "S5~ M3X6 | 1.5-3Y (3M)

RUN ELECTRONICS 27




SpacelHeatersSafetyiCovery

AHO|A 5|E 2HH

71t

RHTC-65-200

AL

Order production

RHTC-65B—200

EH=ZHEM)
Powder Coating(Black)

< - . ; COVER
rL= 217 _Jj :
g é I lim F HEATER :
7 | LJ N :
’ ol L
B 190 - -
w 200 T
A 217 )
Dimensions Z2E FY (Mounting bolis)
E Zl (Characteristic)
1. AH0|A 5IE{2} QFEFIHIE Siciol ZE DEEoR Al B40t AlZlo| HtgL|CH
Saves space heater and safety cover at a time fixed by the bolt work and time airborne,
2. Yz g
Applying the model.
RHTS—Series RHT—Series RHCT—Series
RHTS—30W RHT—80W RHCT-80W
RHTS—-50W RHT—100W RHCT—100W
RHTS—100W RHT—150W RHCT—150W
RHT—200W RHCT—200W
MODEL |22 | M2 | 50| | =~ O¥E R TM=E | &% | Hx
Width | Length| Height | Attachment hole Case materials Attachment bolt| Weight| Note
RHTC—65—200 | 217 65 65 200x 32 Gi Steel M4 X 8 174g
_Arp Gi Steel ZOAA}
RHTC—65B—200| 217 65 65 200x 32 S5 £ & Powder Coating) M4 X8 176g (= j)

28 RUN ELECTRONICS




SpacelHeatersSafetylCovery

AH[0|A o|E 217 H

MODEL | 712 | ME | 0| nEE MY [ nEEE | =%
Width | Length | Height | Attachment hole | Case materials | Attachment bolt | Weight
RHTC-80-80 80 100 80 40X 95 Aluminum M4 X8 94g
RHTC—-80-180 | 180 100 80 90X 95 Aluminum M4 X8 1769
RHTC—80-330 | 330 100 80 165X 95 Aluminum M4 X8 366g
RHTC—-60-80 80 80 60 40X75 Aluminum M4 X8 60g
RHTC—60-180 | 180 80 60 90X75 Aluminum M4 X8 130g

RUN ELECTRONICS 29




SpacelHeatergSafety,

ALO|A 5|H

OFEI 7

10 60 10

MODEL | 712 | ME [ =o0l[ 1=& | m™ME 3ll Hiof THEE| 5
Width Length Height|Aitachment hole| Case materials FAN_(VoItage) Attachment bolt| Weight

RHTC—80F—80 | 105 | 100 | 80 | 40X 95 |Aluminum AC240V~200V (Ball Bearing Type) | M4 X8 | 336g
RHTC—80F—180 | 205 | 100 | 80 | 90X 95 |Aluminum| AC240V~200V (Ball Bearing Type) | M4 X8 |418g
RHTC—80F—330 | 355 | 100 | 80 | 165X95 |Aluminum| AC240V~200V (Ball Bearing Type) | M4 X8 |608g
RHTC—60F—80 | 110 | 80 | 60 | 40X 75 |Aluminum AC240V~200V (Ball Bearing Type) | M4 X8 | 302g
RHTC—60F—180 | 210 | 80 | 60 | 90X 75 |Aluminum| AC240V~200V (Ball Bearing Type) | M4 X8 | 372g

30 RUN ELECTRONICS




7|=20| R =H0| U5t AH|O|AS|ELZL £1X] Rotl S SEE €A 22 Y E=
T LR 71S0| O SRst7{LE 17toll |7t X2 THaoM= 23| o2 7HX| 7SS

F7keto] EHA H|IZHS SFO{oFRfLICY.

1. THERMOSTAT SETTING CH2f 5°C=E AlEIstL|CE
=2=Z2F7|= OiLZ2D Bt Erts 25 EAF H1 MOEI7 2 CX|E 222 F7|
(RD—300)& ArE35IH 0|5 MOIE 5| L Ch.
Lol 222 S5 FIHXA| O Moot SIEF DELE SAGHA| RS LO ALARM 2SS
0|&3t0] —10°COol5tofl R ME S2|B7F HELUSE 2ot HE LR 227t H3S
W =l= = Lot

oF A
= T

2. U= HAE110V(120V)7} U= SFM= AHO|A SEF 240V MBS AB5HH 120VE
1/42 SHOIX|T0 AH|O|ASIEt EHE T} WOo{X| AH|O|AS|EL

o) RATING: AC240V 50/60Hz 400W
OPERATING: AC120V 50/60Hz 100W

3. SPACE HEATER QX 7tHtofl FAN(RHTC—-80F-330)2 R=l6t0 SlEt EH 2%

AT0|ASIEt =S =7 Y &4+ USLICL

i
i
il
ol
=]

4. SPACE HEATERE = ME &HISt 2EXFT| JEES 08510 24A17H TMERE HZOF

5. 7|20| O} 0| {11 etHo| Etet AFM= AHO|AS|EL EO} %2 EE L=
FAN/HEATER (RFH—2000) AtES & &Lct.

RUN ELECTRONICS 31-1




N
ACl20v
L

ELB 2P 15A

2

’@é

RATING: AC240V 50/60Hz 400W
OPERATING: AC120V S0/60Hz S0W

€X0) T
Low
EE10E 018 T3 &% BE70%0Ie EE &Y
®® w | [ =
Low
EZI0Z 0% 88 & EETON0IM B &
@® [
ow
BENS0Y 98 &N
O® | [ o
Low

E=-10=015 38 &%

BSE0IY B &

(E=EE)

=
&5

z2dy

1| CIXe 2=&=x37]| RD-300D AC110~AC240V

2| Z~HO|~8|EH]

RHCT-400W 240V

3| SiEtut MYl

RHTC-80F-330 240V

AESTEEEE:

RHTC-400W 240V

5| SIEDI MAY 2

RHTC-80F-330 240V

6 =2an

120+120 BALL BEARING TYPE

7| B/Z

B/Z

RD-300D sz

az| |2=
TIMER

[ex
099

sE=E

POOQ OO @

RUN ELECTRONICS 31-2




A0 A o|EF £

SH SHE

X @)

@) X

ELB ELB] ELB| ELB|
TH TH
™ S ELB
[ [
/ SH SH

Example of connection

Z= O| A} &t (Notices)

1. AH|0|A SlE}, &l 5EHS 22 AMRZSICE B 2tE 30| WS | T8 SHXIH7 IS AMZSHAIR.

To must use circuit breaker for space heater type.
2. stet, 2HRHE YXIGH7| I5H0] SIEF ZHHIE AtESHMIR.
To must use cover for space heater that prevent burn & fire,

3. AL0|A S[EHE SO 2EA| HXIHE OlNZRC R BEIGHH AFSSIMIL.
As put the space heater at the side, then connection part should install at the below.

4, AH|O|A S|E} = HfME A2 10cm, A5 30cm 0l4f 0|25 ALEoHMIL.

To wiring more than 10cm Left & Right and more than 30cm up & down from space heater,

5. ATO|A SIEFE 2= EET |2 ZESEHH AFESHMIS.
To use space heater with thermostat.

6. ZEZ HIAT} X242 L2 WATTO| AH0|A S|EIS AFERSIMIS.
As control Box small, then use low watt space heater.

7. 29| ol L= AA|7F AFREH= §|Ef= RHTS—¥¥** L= RHCT—****A|2|= S|EIE2 AI25IM|L.
HA2H FHO| LR FYM SIE S SHLE, QIR0 25 Bo| wir{M 8- 250 =26hK] 28t

£ S|Et7E & SHShs BR0ls 25| SEL 82 AR U= 7IsE =

(Ol : BISEZE MZEX S Al4:

7t5tMIR.
UTATHE T LHR0f SIERL SESHA| ZelilM 2 7t 23 ==X &...)

To use heater for RHTS or RHCT series for Outdoor panel or long term, The Heater can be run, but the temperature can't reach
the setting temperature due to very cold outside weather. As Heater fully occupied, please add option for extent for Heater's
durability. (EX: Seaside, Mountainous areas, critical facilities; Power plants panel; Panel; As heater can't fully operating in the

cabinet, so it can make serious damage places, efc ..)
8. ZISIEl Al2|== 6748 sHHM o2 MX| HAE Sto{oF FLich,
Fan heater series should one way to clean the dust Aero 12 months,
9. 0|2/0ll ZF¢et AfE MZEAN 2 Z2|5HMIR.
Please contact to us as you need help

S(OHM)2| &HE|

3| 20]l DELTA(A) = STAR(Y) ZA8t

of2fiet 2t

XMEZ0] R(Q )2 XMEtAof Mt E(V)S MZEEY (VIS WE 34 nF
OI7}51H I(A) FMEV E2H Cl2n 22 Ao e, M7, Mo A=
AloZ HAIE 4 QUCh AZN

E E °

g ehlem wsg i
R O
[e
oll)
R64.5Q (3|EH R64.5Q R64.5Q

-

Yz

e,

R192Q R192Q R192Q

(O O

O

G0 [ O[O0

S

|

I
r
T

E

220V 34 AZM
220V X 220V + 64.5Q X 2 = 1500W
1500W + 220V =+ 43 = 3.93A

x CHAFS|EL 500W(96.8Q )

L L [ L |
S

380V 34 yzM
380V X 380V + 192Q X 2 = 1504W
1504W <+ 380V + 43 = 2.28A

RUN ELECTRONICS 31




HighjEfficientiSpaceltieater

188 AHO|A S|E

SN AE|H S}

e o Bxf (Thermochromic sticker attached) i
(Power indicator light) = - - 40 |44

14 189 14
i 217 i
Dimensions
o
1, =2 dako| 158 AH0|A S|E 5. 240V 0tz B A| ME (Samples show marked)
High efficient space heater. RATING : AC240V 100W 50/60Hz

2. HHHAM AF|7{ 22 (Attached Thermo Chromic Sticker) OPERATING : AC120V 50W 50/60Hz

55 Olat (Less) &M (Blue) . _ o .

. = S|EF AFRA| Zo|AES 1 sol5 SIS,

60°C 0|4t (More) A4 (Yellow) = ?;-}szrc?ylp;;el ;-‘:l-l-c_;Ic_)E SHRCE AR

3. 5|Et W 4= 10,000A|Z (on/off HH= EH B o . 4
g Pl heck heat t t

Heater average life of 10,000hours (on/off Repaet included) FEESClCERp R REEISE s CotaiiaTRen IS0
4. 2 - 22| ol AHE 7HsELICH

be used indoors, outdoors panel.

e He et R Ml O3 MR Fikyr | BH2E 25TYU0 XEkg
Range Voltage | Voltage | Current | Wattagex10% | Peak Current Hz Surface Temp | Resistence AT 25
ACI10V| 023A | 253W | 2A  50/60Hz| 115C
AC120V| 0.22A | 263W | 2A | 50/60Hz| 120°C
RHTS—30W/| AC110V~AC240V [AC220V| 0.12A | 26.4W | 2A | 50/60Hz| 120°C 1.5Q
AC230V| 0.12A | 27.6W | 2A | 50/60Hz| 120°C
AC240V| 0.12A | 288W | 2A | 50/60Hz| 130°C
ACT10V| 0.45A | 496W | 1A | 50/60Hz| 150C
ACTIOV~ACTZ0V A~150v | 0.46A | 552W | 1A |50/60Hz| 155
RHTS—50W AC220V | 0.23A | 50.6W 0.7A |50/60Hz 150°C
AC220V~AC240V | AC230V| 0.23A | 52.0W | 07A |50/60Hz| 1507 3100
AC240V| 0.24A | 585W | 07A | 50/60Hz| 155C
AC110V| 0.00A | 980W | 15A |50/60Hz| 270°C
ACTIOV~ACT20V FAc150v | 0.93A | 1080W | 1.5A | 50/60Hz| 290°C
RHTS—100W AC220V| 0.44A | 968W | 09A | 50/60Hz| 270°C
AC220V~AC240V | AC230V| 0.45A | 103.5W | 0.9A |50/60Hz| 280 2200
AC240V| 0.45A | 108.0W | 0OA | 50/60Hz| 290°C

MODEL

105Q

55Q

Dimension Width(217) Length(50) Height40(44) Attachment hole(200 X 25)
= g
Y o _'ggmlﬂé Me'i?;?t?l bl DAEE | D¥EE | umEm oS
Weight = L oE - = Terminal bolt hment bolt| Termianl | rtification
i Body |Fixed steel Terminal Terminal cap erminal bok | Atiachment bolt Termianl lug) Certiicatio
2A0|= S5 HzK| PC _ v
2629 Aminum Gl steel Temaeeliralendiesil sdlealbend) M4 X8 M4 X 10 1.5—4Y |CE(220~240V)

% FUTH FHZ[7[9] &4 W Oft 3t ALt WS 7 Q] = 7|7 T AR Y F o= ClF L= QYA HANSI AFRSI Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

32 RUN ELECTRONICS




G ERGEnSpaCe Heatehuyswichiceary

20| 2 6|E| EllscEEEER)

TN AE|7 25

AA0fnnnnnn

(Thermochi lker attached) J U U U U U U U U L @

+§ﬁ ® ® N
+L§“ P & '

14 189 14

L

217

Dimensions

E Xl (Characteristic)

1. 52 Hako| 158 AHO|A 3|E
High efficient space heater.,

2. HHM AE|FH 2Ef (Attached Thermo Chromic Sticker)
55°C Ol5t (Less) &M (Blue)
60°C O|A (More) 2 (Yellow)
3. S|Et "+ =~ 10,000A|Zt (on/off BHE Gl
Heater average life of 10,000hours (on/off Repaet included)
4. U - 2| THdof| AFE 7ksELICH
be used indoors, outdoors panel,
5. S|E} AFEA| T AFE & 2015t AFRSIMIR. (FICHE 31page & X)
Please check your heater must use caution when using

MODEL Tg e Y i Mgl O3 dER Fioke | EH2X 25T XNEtE
Range Voltage | Voltage | Current | Wattage+10% | Peak Current Hz Surface Temp | Resistence AT 25T
AC110V| 0.91A 100W 1.6A | 50/60Hz| 230C
ACTIOV~ACT20V =100V 0.93A | 108W | 1.5A |50/60Hz| 250C 52Q
RHTS—100WL AC220V | 0.45A 100W 0.9A |50/60Hz| 230T
AC220V~AC240V | AC230V | 0.45A 105W 0.9A |50/60Hz| 235T 195Q
AC240V | 0.46A 110W 0.9A | 50/60Hz| 240C
Dimension Width(217) Length(55) Height40(48) Attachment hole(200 X 25)
sy | e leeh | oxEs | ouse | uxex | 93
Weight = Bl AL k17 Terminal bolt | Attachment bolt | Termianl lug| Certification
& Body | Fixed steel| Terminal |Terminal cap g
o= o 7451Ad = A
268g |, 28 | Geeel | EBHASHETA | \4ng | Maxi0 | 1.5-4v |CElR0~240)
Aluminum Thermosetting phenol resin

% FUTH FHZ[Z[9] &4 U oft] ot AL W37 22 & = 7[7]|FO A8 Y o= ClF 2 = QPHY RS HAIS[o] AFEO[H|Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 33




High|EfficientiSpace]Heater=ForsSwitch(Gear;

Aes 20| 2 §lE EEoch EuE)

A AE|7| R
(Thermochromic sticker attached) > e
& 7 | [OOU00000UU| (g
.;.' i\ a ._; Hlﬂ.zao o !
264 »
%
:ﬁ=[ . . . rr—#—ﬁ y
74 + % 7
2 Bl e
L]
24
Dimensions
E Xl (Characteristic)
1. 52 go| 158 AHO|A 5|E}
High efficient space heater,
2. A AE|7| B2 (Attached Thermo Chromic Sticker)
55°C 0|5} (Less) &AH (Blue)
B60°C 0|4t (More) 24 (Yellow)
3. SEF "W 4=H 10,000A|7} (on/off HH=E L SH
Heater average life of 10,000hours (on/off Repaet included)
4. 2L - 22| mtdlof| AL 7tsELICE
be used indoors, outdoors panel,
5. 5|E} ARBA| FoALEIE & E0l5I0 AFESIMIZ. (FICHE 31page EHZX)
Please check your heater must use caution when using
MODEL et He et o = My (O3 ¥R Fos | ZH2E  25TYU0 MEE
Range Voltage | Voltage Current Wattage10% | Peak Current Hz Surface Temp | Resistence AT 257
AC110V| 0.91A 100W 1.5A |50/60Hz 270C
ACTTOVAACT20V 10V 0.93A | 108W | 1.5A |50/60Hz| 290 e
RHTS—-100WH AC220V | 0.45A 100W 0.9A |[50/60Hz 270°C
AC220V~AC240V  AC230V | 0.45A 105W 0.9A |50/60Hz 280°C 195Q
AC240V | 0.46A 110W 0.9A |[50/60Hz 290°C
Dimension Width(217) Length(50) Height40(44) Attachment hole(200 X 25)
= -
gy e Meee cirige | DyEe | wmpn | o3
Weight| & k-l CHALH TEXLZIHE | Torminal bolt | Attachment bolt | Termianl lug| Certification
Body | Fixed steel | Terminal | Terminal cap
on|s 745 [l
308g| US| G sl SBAS A \avg | MAX10 | 1.5-4Y | CE20~240V)
Aluminum Thermosetting phenol resin
x FUITEFWI[7]2] &4 9 A of A AF I87t @ 2 == 77500 AH8Y F 2ole ClF 2 = QA E HAIopo] AF&opM Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.
34 RUN ELECTRONICS




SpacelHeatery ®

9}EEIII -?;-62 A 1|0|J~ 5|E (omum

TN AE|7| A
(Thermochromic sticker attached) R =

ME sHm B2xb
(Power indicator light)

+
A
& @ @&
0$0

6

-4

50

14 189(7) 14
217(317)

Dimensions

E & (Characteristic)

1. 20| XL EAMSH|O|7|, M2 WEAMSH 07| L 220 MR/ Y= Control paneldll A AxI5H0
718 ML &2 82 YWXIZBL2Z ARZELCh
It can easilly be connected a building's supply of electric power, communication controller, traffic lehgt controller and or
control panel on the roof top remove the moisture and to prevent the freeze of the part.
2. HHM AE|FH BEEf (Attached Thermo Chromic Sticker)
55C O[5t (Less) &AM (Blue)
60°C Ol4 (More) EH4H (Yellow)
3. SIE} B =2 5,000A|7t (on/off HH= TS
Heater average lite of 5,000hours (on/off Repaet included)
4. ZL - 22| Thdlofl AtE 7HsELICH
be used indoors, outdoors panel.
5. 240V O B A| A= (Samples show marked)
RATING : AC240V 100W 50/60Hz
OPERATING : AC120V 25W 50/60Hz
B. SIEF AFEA| F2IALE & Ef0l5t AESIMIR. (FICHS 31page &X)
Please check your heater must use caution when using
7. 222 TR HAE Z0f MA T AN
AC380V AC440, DC12V, DC24V, DC48V DC72Vv, DC110V, DC125V, DC220V

g | MY Foe | Mgt | VIR | M2 | 20| | n¥E BEERE | H|1
MODEL  |\WATT Voltage, Hz |Resistence| Widith| Length Height Attachment| Srface weight - Note
RHCT—80W | 80W | 220V |50/60Hz| 605Q | 217| 50 |51(58)| 200X25| 200°C | 400g
RHCT—100W/|100W| 220V |50/60Hz| 484Q | 217| 50 |51(58)|200x25| 2207 | 400g AC110V
RHCT—150W/|150W| 220V 50/60Hz| 322Q | 217| 50 |51(58)|200%25| 240°C | 400g AC120V
)
)
)

(
(
AC230V
RHCT—200W|200W| 220V |50/60Hz| 242Q | 217| 50 |51(58
(
(

200%25| 260°C | 4009 | pcoa0y
RHCT—300W|300W| 220V |50/60Hz| 161Q |%317| 50 |51(58
RHCT—400W|400W| 220V |50/60Hz| 121Q |%317| 50 |51(58

300X25| 260°C | 605g | M=
300X25| 270°C | 6059

: i e orjgs | nume | gmox | o
=H | o¥ET =2 THRIFHEE | Terminal bott |Attachment bolt| Termian! lug| Certification
Body |Fixed steel Terminal Terminal cap
Aol HZE3HY mis4A PC ¥ CE(220~240V)

Aluminum Gl steel Thermosetting phenal resin | (polycarbonate) M4 x8 M4 X110 1.5-4Y RoHS

% T FH17[9] &4 W Ao XL T3f7f @& = 77|50 A8 Feol= ClF 28 QUTFA|E RO ALE i Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 35




CartridgelCompressioniSpacelHeater;

9rea|x| QIE 3 AHOIA 3IEf (A1)

B AE|7 £}
X 8= 2Xt (Thermochromic sticker attached) 330(2)

(Power indicator light) 8 |T s
- N |y P LN

+
T 42 ;
Foo*
poo@
50

Dimengions

E Xl (Characteristic)

1. Zi2 9] vt SAMS K7, MEEE, WEASHIH 7| ¥ Z2/0 HX|Z(0 U= Control paneldl &lA| AX|5H0
7|8 M7 oL 222 =2 YXIE2E ASELCL
It can easilly be connected a building's supply of electric power, communication controller, traffic lehgt controller and or
control panel on the roof top remove the moisture and to prevent the freeze of the part.

2. GHA AE|7 B2 (Attached Thermo Chromic Sticker)
55C 0|5t (Less) M (Blue)
60°C O]At (More) EM (Yellow)
3. 5|El T H 5,000A|7 (on/off HH=E =gt
Heater average life of 5,000hours (on/off Repaet included)
4. 2L - 22| mdlof| AL 7tsELICE
be used indoors, outdoors panel.
5. 240V 0Ot B A| M= (Samples show marked)
RATING : AC240V 100W 50/60Hz
OPERATING : AC120V 25W 50/60Hz
6. SIEt AFZA| FoALEE & ERl5tT AFESIMIR. (FICHS 31page &X)
Please check your heater must use caution when using

My | MY | Foe | M@ 712 MEZ | 50| | IHE (BHR2E =Y | HT
MODEL | wATT Voltage Hz |Resistence Width Length| Height|Attachment| Surface leight|  Note

hole Temp
RHCT—500W | 500W | 220V |50/60Hz| 96Q | 417 | 50 [51(58)|400%25| 320°C | 820g |AC110V
AC120V
RHCT—800W | 800W | 220V 50/60Hz| 60Q | 517 | 50 [51(58)|500%X25| 340°C |1020g|AC230V
AC240V

RHCT—1000W|1000W| 220V |50/60Hz| 48Q | 617 | 50 |51(58)/600x25| 360°C |1230g F=dit

: S A o CRiEE | mIEE | gmEx | o
=X | 1FEH THRLCH TR | Torminal bolt |Attachment bolt| Termianl lug| Certification
Body | Fixed steel Terminal Terminal cap
U0lE A5 HzeAl PC B

Aluminum Gl steel Thermosetting phenol resin | (polycarbonate) M4 x8 M4x10 | 1.5-4Y

 FUOE W29 &4 U YTl AL L3I Q2 E= 7|7 50 AR Y F 2o = 0lF o = QYA E HAIO[O] AL &SP Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

36 RUN ELECTRONICS




IL@W@}J@@[%[I@&IH@W

=2 AH0|A S]E]

He Yo 2a A AE|7 H2} x .
(Power indicator light)  (Thermochromic sticker attached) T

Dimensions
E %! (Characteristic)
1. X2 AH|0|A S|EF 15W~20W
Low temperature space heater 15W~20W
2. GHM AF|7{ E2F (Attached Thermo Chromic Sticker)
55°C 0I5} (Less) &AM (Blue)
60°C 0|4t (More) =AM (Yellow)
3. S|Et "+ =~ 10,000A|Zt (on/off BHE Gl
Heater average life of 10,000hours (on/off Repaet included)
4. SIEF AFEA| FYAEE & S0I5t AFESIMIR. (FICHE 31page & X)
Please check your heater must use caution when using
=] 22 Foe | XNEE | 7R | M2 | =0] I¥E mH2C
MODEL |WATT | Voltage = Hz |Resistence | Width  Length | Height | Atachment Surface
RHT—20W | 20W | 110~240V | 50/60Hz | 105Q 168 50 44 155X 25 80°C
= :
sy L nE e | emme | ouse | wmen | oz
Weight| = L= = =1 Terminal bolt | Attachment bolt| Termianl lug| Certification
= Body |Fixed steel Terminal Terminal cap i
ool SN H=AK| || PC B
£10g Aluminum Gl steel Thermosetling phenol resin| (polycarbonate) Max8 M4X10 | 1.5-4Y

x FUITE FH1210] &4 W AT e -1 IO 235 = 27151 AF8 8 F Lol e C1F 2 2 PHFXIE FAOI0] ALEop 2.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 37




2= AHO|A 5[H (2UEA)

; HHA AE|7 St . =
e HZ H=b (Thermochromic sticker attached)
(Power indicator light) =z —‘ 51|58
NP NP
_J L
BT e ® 3
+
— g‘ @ _H:‘ ’_ @ l—d 3
F L@} @ @ v
14 189 14
217
Dimensions

E Xl (Characteristic)

1. 42 52| st x| = Q1= SPACE HEATER= CONTROL PANELO| &7|E M|HstHLI £=2| 54
HxlZe 2 ARZELICE

The Space Heater in the Control Box for reduce moisture and not freezing other part for Control panel at the cold season
(or Winter).

2. GHA AE|7 B2 (Attached Thermo Chromic Sticker)
55°C 0|5} (Less) EM (Blue)
B60°C 0|4t (More) 2H4 (Yellow)
3. S|EF ®H 49 2 000A|Zt (on/off HEZ IS
Heater average life of 2,000hours (on/off Repaet included)
4, 2 il Mg (22| Zol= AFES 2XI5HH 22| Tol= RHTS—-100W S|EF AFES AHESHLICH)
Indoor Panel Only (We suggest RHTS 100W for Outdoor panel)
5. 240V 0O HA| ME (Samples show marked)
RATING : AC240V 100W 50/60Hz
OPERATING : AC120V 25W 50/60Hz
6. SIEF ARZA| F2AIEIE I Q1511 AFZSIMIL. (FICHE 31page EZX)
Please check your heater must use caution when using

My | MY | Fokse | NE@ | 712 | M2 | ¥0| | 1¥EE EH2EZ H|n

MODEL " |WATT Voltage| Hz |Resistence|Width Length Height|Attachment Surface | nope

RHT—80W | 80W | 220V |50/60Hz| 605Q | 217 | 50 |51(58)| 20025 200°C |ACT10V
RHT—100W | 100W | 220V [50/60Hz| 484Q | 217 | 50 |51(58) 200X25 220°C ﬁgégg\\j
RHT—150W|150W | 220V |50/60Hz| 322Q | 217 | 50 |51(58)| 200X25  240C | acpaoy
(58)

RHT—-200W | 200W | 220V |50/60Hz| 242Q | 217 | 50 |51(58)| 200X25 260°C | #AS

THE  Meterials i -
e ——: 5 CIMEE | DMEE | Yo | oI
Weight =H | n¥IT TERHCH TR | Terminal bolt |Attachment bolt| Termian! lug| Certification
Body |Fixed steel Terminal Terminal cap
U0lE HASH HzX| PC v |CE(220~240v)
. Aluminum Gl steel Thermosetting phenal resin| (polycarbonate) M4 x8 M4x10 1.5-4Y RoHS

% ZUITHFWI|T1Q] &4 U aITfoh X4 L3722 &= 7|71 50 A8 FL0l= ClF5 2.2 QP XS FAIO[o] AL OpMIR.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

38 RUN ELECTRONICS




MinifSpacelHeater;

x|l A|0|A S|E

TE Mz 2t HeHM AE|F 2&} .
(Power indicator light)  (Thermochromic sticker attached) i é oo M7y :
=S 10 @:
Nl — .

!
-
h ]
s
h ]
55

200
217

Dimensions

E Xl (Characteristic)

1. 2EXF7(2t 5|67} A= U Ak=0| Ha2|siLCt

It is combined with the heater thermostat is easy to use.
2. HHM AE|FH 2E} (Attached Thermo Chromic Sticker)

55°C 0I5t (Less) 2 (Blue)

60°C 0|4t (More) M (Yellow)
3. SlE} "t = 10,000A|7} (on/off BHE LS}

Heater average life of 10,000hours (on/off Repaet included)
4, S|EF AFZA| FoALEIE & EQI5tT AFRSIMIR. (FHCHE 31page &HX)

Please check your heater must use caution when using
R Y | ®E | ™ 13 dR] FOE |BEESE| 5000 NEY
WATT | Range Voltage | Voltage Current Wattagex10% | Peak Current Hz Surface Temp | Resistence AT 25°C
AC110V | 0.23A | 25.3W 2A  |50/60Hz| 115°C
AC120V | 0.22A | 26.3W 2A  |50/60Hz| 120°C
30W | ACT10V~AC240V | AC220V | 0.12A | 26.4W 2A  |50/60Hz| 120°C 1.5Q
AC230V | 0.12A | 27.6W 2A | 50/60Hz| 120°C
AC240V | 0.12A | 28.8W 2A  |50/60Hz| 130°C
AC110V | 0.45A 49 5W 1A |50/60Hz| 150°TC
ACTIOV~ACT20V A0V | 0.46A | 552W | 1A |50/60Hz| 155
RHM—1| 50W AC220V | 0.23A | 506W | 0.7A |50/60Hz| 150°C
AC220V~AC240V | AC230V | 0.23A | 529W | 0.7A [50/60Hz| 150°C 310Q
AC240V | 0.24A 58.5W 0.7A |50/60Hz| 155
AC110V | 0.90A | 99.0W 1.5A |50/60Hz| 270°C
ACTIOV~ACT20V I Ac120v | 0.93A | 1080W | 1.5A |50/60Hz| 290°C
100W AC220V | 0.44A | 96.8W | 0.9A |[50/60Hz| 270°C
AC220V~AC240V | AC230V | 0.45A | 103.5W | 0.9A [50/60Hz| 280°C 2200
AC240V | 0.45A | 108.0W | 0.9A |[50/60Hz| 290°C

MODEL

105Q

554

Dimension Width(217) Length(50) Height40(44) Attachment hole(200 X 25)
3 =5 :ggn}x L Mef:?;.:“; S5ETT CIXEE | IFEESE | YEEE} A=
Weight| = LSEE 24 AL | Terminal bolt |Attachment bolt| Termian! | rification
= Body |Fixed steel Terminal Terminal cap SnpaRo At heber el Seneati
olE SZetd Hzek| PC _
2489 | Auminum| @' ste®! Temaseing orenclresin (polycarbonate)| M4 <8 | M4X10 1.5-4Y

% FUTE FHZ[Z[9] &4 S Oft|t AL W37 22 & = 7[7]|Fo A8 Y FRol= ClF 2 = QPR HAIS[o] AFR O Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 39




MinitSpacelHeater

OjL] AHO|A S|H

o
50

e
_ s~
=
——
—  —————
s ————

23

42

Dimensions
E Xl (Characteristic)
1. &2 AO|=2 HASH B7tol £Af0| B2|ELIC
Confined to a small size for convenient mounting space
2. S|Et H? = 10,0004 |7t (on/off HH= mESh)
Heater average life of 10,000hours (on/off Repaet included)
3. 5|E| ABA| FoALEE & ERl5tT AIESIMIR. (FICS 31page &X)
Please check your heater must use caution when using
s et Fok | M | 72 | M2 | =0] I1¥E | BZHR2S
MODEL |WaATT| Voltage | Hz |Resistence Width| Length Height Atachment) Surface
RHM—2 30W | 110~240V | 50/60Hz | 1.5Q 115 50 42 100x25 | 120°C
< 3
W§E°:1 Ei“xﬂé Maenalj—yggﬂl " _Tl_hé'%Eb . %IEb’i‘J 5 ?f.'%
eight = - = tachment bol able ertification
0 Body Fixed steel
= 0.755Q
1259 Al Gl steel M4 X8 (20cm)

x FUTHFHI17[9 4 U 9T ot Xt ofof 22 S = 7121500 A2 F 2ol C1F 22 PHFAIE FAIOT ArgotMIL.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

40 RUN ELECTRONICS




MinitSpacelHeatery

OjL] AHO|A S|H

¢ 29 >
3 g
70 29 3|
I/\\ o i
| M o
215 &) ®) %
“WWH ‘|| F“iiﬂEEJ
Dimensions
E Xl (Characteristic)
1. &2 AO|=2 FAst Z7H0| 22t0| HalgiLct,
Confined to a small size for convenient mounting space
2. S|Et " =~ 10,000A|Zt (on/off BHE Gl
Heater average life of 10,000hours (on/off Repaet included)
3. 5|6 ALSA| O AEE & &0I5t AFRSIMIR. (7ICHE 31page &X)
Please check your heater must use caution when using
=) il Fot S k=lad 72 M2 =0| | mH2RS
MODEL | waTT | Voltage Hz | Resistence Width | Length | Height = Sgrface
R4 20W 110~240V | 50/60Hz 1.5Q 115 50 42 160C
10W 110~240V | 50/60Hz 1.50 115 50 42 100°C
== = e Meterialf' — oxyzE 2= A olx
Weight = Lo=C Attachment bolt Cable Certification
‘ Body Fixed steel
o _ 0.755Q
60g AlLminum SUS Clip M4 X8 (20cm)

x FUITE FH1210] &4 W AT e -1 IO 235 = 27151 AF8 8 F Lol e C1F 2 2 PHFXIE FAOI0] ALEop 2.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 41




102
w
o B ——# |©
T S
SO “ o
w0 3
. . g ) =
lan] M o)
.
83
91 |
Dimensions
E Al (Characteristic)
= - . -
1. HiFEE DEAMSK|7], 22| CONTROL PANELO| AX|7} =& 2 150
ot EREIHE 0| SELRIECE Si7t 4 LICH ﬁ i
If is fit for the switchger, Traffic sinnal control panel and out door > 100t 5= e
control panel and good for the antifreeting. = g
m 2 e
2. 3|E{ 10cm =0/ mf, 2= TW# 60°C7t ELICh el
The average temp is 60°C wher the hight is 10cm, - P e BD
) ) | O
3. SEF T £ 10,000A12+ (on/off HHe Z3H) i
% FAN 80X 80X 25 AC 220V Ball Bearing Type e
(FAN S2ZFA| FANIZH|7Fs, FAN2 A2 M HEQoZ E1 HiZh
Heater average life of 10,000hours (on/off Repaet included) 0 ! l + : l i
(It is possible to change if fan is out of order, Fan is consumable item.) ™3 &M 1M 30M 1H

MM x| 2y T

{Point temperature sensor)

4. 5|E| AZA| FoALEE & ERl5tT AFESIMIR. (FICS 31page &X)
Please check your heater must use caution when using

Thermostat FAN Heater I
e o I ”‘Jl kl'l
Sensori
MIA2 o
: 35| Sensor2
L —Black Fan Heater
N = \White
Example of connection ZXE Acrylic Box(500% X 500%) 2lE2= 25T
MODEL =) et Fote | 712 MZ 0| nd=E
WATT Voltage Hz Width | Length | Height | Attachment hole
RFH—1000 | 170W | AC220V~AC240V | 50/60Hz 102 67 100 91x20
CE THE O3xs IYSE 2|EM A
Weight Meterials Peak Current Attachment bolt Cable Certification
0.755Q
500g Gl steel 4A(10sec) M4 X 10 (20cm) KC. CE

x FUTHFHI17[9 &4 X 9T ot X ofof 22 S = 7121500 A2 F 20l C1F 22 PHFAIE FAIOT ArgotMIL.

In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

42 RUN ELECTRONICS




|

1
130

105

Dimensions

E Xl (Characteristic)

1. g DEAMSHOZ|, 22| CONTROL PANELO| Mx|7} &t
5t R 2T 2 o SEALUXIELE a7t 4ElLICt
If is fit for the switchger, Traffic sinnal control panel and out door
control panel and good for the antifreeting.

2. 5|6 10cm =012 mf, 2== T+ 100°C7t LIt
The average temp is 100°C wher the hight is 10cm,

3. 5|EF W £ 10,000A|Z (on/off HH= w5} %01
¥ FAN 80X 80X 25 AC 220V Ball Bearing Type

(FAN S2HA| FANIIH|7}S, FANS ADM XZQloz 71 High)

) o

130C @

Q

]

d
;

RUNLYHIINAL
8
O

Heater average life of 10,000hours (on/off Repaet included) 0 : : : : : :
(it is possible to change if fan is out of order, Fan is consumable item.) M v 5M 1OM 30M 1H
4, S22 Hio|HE £2K90°C) - Ll
Bimetal manual reset attachment (90°C) MM §IR| 25)
5. 51E| AKBA| FOIAEIS B 0I5l ALRSIMIR. (FICHE 31page A% (Point temperature sensor)

Please check your heater must use caution when using

Thermostat FAN Heater T
o a = ALY
Sensor1
A2 o
6 = 35| Sensor2
— Black Fan Heater
h tt>White [
Example of connection ZME Acrylic Box(500Mm X 500%) 2/R-2E 25T
VODEL w2 x{of =og | 7R M2 #0| k3
WATT Voltage Hz Width = Length | Height | Attachment hole
RFH—2000 | 400W | AC220V~AC240V | 50/60Hz 150 115 117 100X 100
==l & OaMg I1™HEE 2| EM =
Weight Meterials Peak Current Attachment bolt Cable Certification
8809 Gl steel 8A(10sec) MA4x 10 1(-153? KC. CE

% FUTE FHZ[Z[9] &4 U aft] ot ALt W37 2 & = 7[7]|Fo A8 Y o= ClF 2 = QPHY RS HAIS[o] AFE O Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 43




0 .
o o E—
= Yy
84 16
Dimensions
E % (Characteristic)
1. TRl WEAMSKH|07], S2] CONTROL PANELO| AX|7} =g i | —
ol 2RE2EY 2 X0 SEUXELE st f4ELCE ﬁ - e AR
If is fit for the switchger, Traffic sinnal control panel and out door g 1o0c] T
control panel and good for the antifreeting, %‘ ra i w0C @
2. 5|E 10cm =0|¥ ©f, 2== H+F 100°C7} ELlct M 7sct rd
The average temp is 100°C wher the hight is 10cm, ' //
3. 5lEt T2 3 10,0004+ (on/off HHe 28 WEW P
% FAN 80X 80X25 AC 220V Ball Bearing Type _— E’/
(FAN SZFA| FANIIH|7}S, FANS ARAM HEQCZ Em Hi)
Heater average life of 10,000hours (on/off Repaet included) 0 : : ; ; : ;
(It is possible to change if fan is out of order, Fan is consumable item.) M 3M 5M 10M  30M  1H
4, 527 dHio|HE BE=K90°C) " T
Bimetal manual reset attachment (90°C) CHM IR 2E)
5. 5IEl AKSAI FOIABIS B Eoloin AIRSIML. (FICIS 31page EZ) el e S
Please check your heater must use caution when using
Thermostat FAN Heater T
: SE
Sensor1
MIA 2 o
35| Sensor2
Fan Heater
L ~~Black
N =White
Example of connection ZME Acrylic Box(500M4 X 500%) QIE-2E 25T
MODEL ey Ziet Fol | 712 M=z =0| ks
WATT Voltage Hz Width | Length | Height | Attachment hole
RFH—2000K | 400W | AC220V~AC240V | 50/60Hz 163 84 117 148X 42
¢ IR HERITS IHEE Bj=H o=
Weight Meterials Peak Current Attachment bolt Cable Certification
1.55Q
880g Gl steel 8A(10sec) M4 X 10 (M) KC: GE

 FUOE W29 &4 U YTl AL W37 2 2{E]= 7|7 50l AR Y F 2o = 0lF o = QAP K| E HAISIO] AL &SP Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

44 RUN ELECTRONICS




I —

8
y & 0
8 a1
~ 8
0 |
r T — — []
15| L
B 130 55 |
i 192 o

Dimensions

E Xl (Characteristic)

1. HiFEE DEMSH|O7], 22| CONTROL PANELO| A X|7} =&t
5t R 2T 2 o SEALUXIELE a7t 4ElLICt
If is fit for the switchger, Traffic sinnal control panel and out door
control panel and good for the antifreeting.

2. 5|6 10cm =012 mf, 2== T+ 100°C7t LIt
The average temp is 100°C wher the hight is 10cm,

3. 5|EF W £ 10,000A|Z (on/off HH= w5} %01
¥ FAN 80X 80X 25 AC 220V Ball Bearing Type

(FAN S2HA| FANIIH|7}S, FANS ADM XZQloz 71 High)

130C @

@

=

(9]
T

Q0T @

RANLVHIINIL
8
O

Heater average life of 10,000hours (on/off Repaet included) 0 : : : : : ;
(it is possible to change if fan is out of order, Fan is consumable item.) M a 5M 1OM 30M 1H
4, =S5 HiO|HE E2H90°C) _ TIME
Bimetal manual reset attachment (90°C) MM §IR| 25)
5. 5|E| AFRA| FOIARRIS & SOI5tT ALSSHMIR. (710HE 31page AZ) {Point temperature sensor)

Please check your heater must use caution when using

FAN Heater T
=
- m Sensor1
M2 o
35| Sensor2
0 - Fan Heater
L ]
N
Example of connection ZME Acrylic Box(500Mm X 500%) 2/R-2E 25T
MODEL 3 et Fote | 712 M=z =0| ndsE
WATT Voltage Hz Width | Length | Height | Attachment hole
RFH—2000—-50| 400W | AC220V~AC240V | 50/60Hz | 197 115 117 100X 100
==l HE OaMg I1™HEE 2| EM =
Weight Meterials Peak Current Attachment bolt Cable Certification
1020g Gl steel 8A(10sec) MA4x 10 1(-153? KC. CE

% FUTE FHZ[Z[9] &4 U aft] ot ALt W37 2 & = 7[7]|Fo A8 Y o= ClF 2 = QPHY RS HAIS[o] AFE O Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use
safety device over again.

RUN ELECTRONICS 45




DigitaljEaniHeater;

CIX|E 2l o|E

A o

E Xl (Characteristic)

1. 2 8 HMo &9
2. ATM7|, X|5FE AIO|E, 7|47 wEMSH| viFE e, ASH e S...

Jﬂliﬁ
Sensor1
M2 o
gll5|E| Sensor2

Fan Heater

Acrylic Box(500% X 500M4) 2IE-2% 25°C

Example of connection Z-ME
xot Fole | 712 | M2 | =0 EE

T2y
NDREL WATT Voltage Hz Width | Length | Height | Attachment hole
RFHD—3000 | 400w | AC100V~AC?265V | 50/60Hz
=% THE HE R I™EE g|EM =
Weight Meterials Peak Current Attachment bolt Cable Certification
1.55Q
Gl steel MAX 10 (1M)

x FUEFWI|Z[0] 244 U WTOT X LF I3[ 7| 22 &= 717|500 A8 ¥ F 20l = ClF 2% QYA S $AIOI0] AL OpM| Q.
In case of using for machinery concerning injury and tremendous prpoerty damage of heavy, peripheral accessories attach & use

safety device over again.

46 RUN ELECTRONICS




PED]ight

LED X5E

222

>

239

Dimensions

E Xl (Characteristic)
1. BAE XtSHOH 2ol 22 v =HH0] ofF e[ Ch
It's much convenience work for connecting line of auto control box of control panel,
2. Hl0|A THEI2 ZEMPC(E2|7HILI0IE) HEA vog LICh(ZSH PCAIEZ SHo = 7Y =Ho| guct)
The case has made with polycarbonate fireproot V2 grade.
3. HHES RFL-202C} 0|7} W1 £2sin], 55 &2 SUBNLICE

Slim and lower height than the RFL—20 such as direct mounting, the mounting holes are the same,

e Y| A3 | FOo |7IR| ME | 0| | 1¥E | ¥ | =& N

MODEL ilaminonete
op Voltage | Watt Cerficaion| Hz | Width Length Height| “"rn™™ weight| "fiiroree | Iihoreter

AC220V~AC240V | 5W | KC
AC110V~AC120V | BW | KC
RLBS-5W DC110V~DC240V | 5W 50/60Hz| 239 | 65 29 222x325| 180g | 140Lux | 36Lux
DC12V~DC24V | 5W
AC220V~AC240V | 10W| KC
AC110V~AC120V | 10W |  KC
RLBS—10W DC110V~DC240V | 10W 50/60Hz| 239 | 65 29 |222X32.5| 185g | 315Lux | 83Lux

DC12v~DC24V | 10W

NBFHIRE | AIBFHEE | =EeE T CIXlEE | n¥EE | e

Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
PC(Polycarbonate)

—20~90°C | 30~80% RH | —20~90°C | UL—94 V-2 M4 X8 M4 X 10 1.8~y

LHo A Rl

RUN ELECTRONICS 47




stol2] 6AIZ+E

gth[2] 3AIZHE

O}EHE XE A7
E Zl (Characteristic)
1. HE HEEH|U4+-E)
HYE LEDS 712 ME
LEDS DC ¢ 3= O}EH AH2EZ A7
ol . AC 220V
2~DC2 = l=t=1
DCAH DC24V 10W 5m 221 DC 12V 1A DC
o=

stoll2] 371

STE 2I50I2 Btdl2| 3EA STE 2IF0I2 Bidl2| 6EA

2lF Szl S|

DC 12V
STAIZE: 3AI2t
AEAIZE 1 2A12F 302

DC 12V
STAIZE: 6AIZH
AF2AIZE @ BAIZH

© AC110~AC240V 0.5A
. DC 126V 2A

E Xl (Characteristic)

1. 2l§0l= Ho2|(nEH, HY, MY 2532 )
2. 2|02 V(= elEdidle] EEYLCL 712 MERZT AISSHMR.
3. CIE dih2|Lt 2 STV|E AFSSIAE Std|2| Z2 2{=o] AsH T

=

48 RUN ELECTRONICS




SWS:220, 5W:300, 10W:385, 20WS:540, 20W:830
415 172(7) 6.5
g O | B l=p 2
LN RLB-5WS :
: L, 35 65
(" R B-5W - L -
- 3 ©
; IN A= s IN
| — £ ] OW -
e —
. | RLB-20WS
fersh,
- —
— AN
RLB—20W 7
29
Dimensions

E X (Characteristic)

1. HHTIE XtSA{Etofl 25 v =HH0| ofF Ha[giL|Ch
It's much convenience work for connecting line of auto control box of control panel,
2. MX|, otxel, aMR 25 3|27t LHE £[0] UELICH(DC12, DC24V M)
It has included control circuit for surge, over voltage & currency.(except DC 12V & 24V)
3. Al0|A A2 HEMPC(EZ|FHILIOIE) HIx| vog YL|CH(ZetAt PCIHEZE SH|E 7" =Fo| gLct)
The case has made with polycarbonate fireproof V2 grade.
4. LEDS 822 2T #EX| YWAlo|2} ot HalstH SUS AHEE OFF 741siL|Ct
The assembling LED is not difficult due to it's one touch clip type and it's stainless steel,
5. gpMZInt 2 MM
Yellow color to order
et Hg| Q3 | FOl+= IR ME | =0| | S E-33 E3

lraat Voltage | Watt Certiication|  Hz  Width| Length | Height Weight "4 ometer| ilyminometer

AC220V~AC240V | BW KC
RLB—5WS ACTIOV~ACT 20V | BW KC 50/60Hz| 220 | 33 |26(30)| 74g | 140Lux 37Lux
AC220V~AC240V | 5W KC

AC110V~AC120V | 5W KC

RLB-5W |DC110v~DC130V| 5W 50/60Hz| 300 | 33 |26(30)| 88y | 138Lux 36Lux
DC24V 5W
DC12V 5W

AC220V~AC240V  10W| KC,CE
AC110V~AC120V 10W| KC

RLB—10W |DC110vV~DC130V| 8W 50/60Hz| 385 | 33 |26(30)| 108g | 273Lux 71Lux
DC24V 10W
pCi2v 10W
AC220V~AC240V  18W| KC,CE
AC110V~AC120V | 18W KC
RLB—20WS DC2AV 18W 50/60Hz| 540 | 33 |26(30)| 192g | 560Lux | 150Lux
DC12V 18W
RLB—20W AC220V 18W KC 890 | 33 [26(30)| 234g | 520Lux 137Lux
MBZIIRE | ABFISE | EB2E T CREE | DFEE | YEmx
Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
PC(Polycarbonate)
—20~90°C | 30~80% RH | —20~90°C | UL-94 v-2 M4 X8 M4 X8 1.5-4Y

=AY ME

RUN ELECTRONICS 49




HighlEfficiency/LEDILight{|BARSVRE)

(SIS SRIHZXIZ)

5WH:300, 10WH:385
41.5 172(7)

-
=0
X
{
T
(%}
=
als
26
20
& &
o2}
w
—
-
22
26

[} 'J RLE-10WH

Dimensions

E Zl (Characteristic)

1. HiEE XtSHoehofl 22 ui4d 20| ot ma|gL(Ct,
It's much convenience work for connecting line of auto control box of control panel,
2. MX|, oY, DHHFR 25 3|27} LA &[0 USLICL(DC12, DC24V M2l
It has included control circuit for surge, over voltage & currency.(except DC 12V & 24V)
3. Alo|A ZHE2 ZEMPC(ES|FHHIL0|E) HHEA| voZ flLIch(ZE PCAHEIZ SHo|= 7Y ZHo| guct)
The case has made with polycarbonate fireproof V2 grade.
4. LEDs 222 22 HEX| YAI0[2} olF HE|slH SUS MEZ OfF 740stL|Ch
The assembling LED is not difficult due to it's one touch clip type and it's stainless steel,
5. Bzl =2 MM
Yellow color to order

MODEL et = N - Folx (712 | M2 | =0 | B =& | =K
Voltage | Watt Cerification|  Hz | Width Length  Height Weight "'{f; romee" | Igminometer
AC220V~AC240V | BW KC
RLB—5WH ACT10V~ACT20v | BW KC 50/60Hz| 300 33 [26(30) 88g | 138Lux 36Lux
AC220V~AC240V | 10W KC
RLB—10WH ACT10V~ACT20v [ TOW KC 50/60Hz| 385 33 [26(30) 108g | 273Lux 71Lux
AIRBFH2E AEFSE Hi2e T CIXISE IHEE FEICEX}
Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
PC{Polycarbonate)
—20~90C | 30~80% RH | —20~90C | UL—94 v—2 M4 X8 M4 X8 1.5—4Y
A THE

50 RUN ELECTRONICS




Standard Type

45
i

1000

62.3
[

Dimensions

E X (Characteristic)

1. 870] H11 212 HE =LA MEELct

Ideal when space is needed for large and bright light.

2. 7|0]A RHEES F=PUPC(ER|FHILIO0|E) A vog LICh(Estit PCIHEZ SH0IE 72HFY =

The case has made with polycarbonate fireproof V2 grade.

3. T.R BTS2, 7T, B, 0, AFA, HEL S

ol ELch)

e Y| x| Fol | 7IR | ME | 0| IHEE | ¥
MODEL Attachment

el

Voltage | Watt Cerficaion| Hz | Width Length Height| “"&STn™ weight| "{iiroreee! | Iihometer

=5

RLB—36W |AC110V~AC240V |36W| KC |50/60Hz|1000| 62.3 | 448 | Clip 725g [1,100Lux| 370Lux

NBFHIRE | AIBFHEE | =EeE T CIXlEE | n¥EE | e

Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
PC(Polycarbonate)

—20~90°C | 30~80% RH | —20~90°C | UL—94 V-2 M4 X8 M4 X 10 1.8~y

=AY MWE

RUN ELECTRONICS 51




=
(=)

M
=TT
50
64

RFL—20N

o | - -

— et

Dimensions

R

FL—20

74

Dimensions

3 8
A
Y
RIL—60 Dimensions
MODEL o= 72 M2 =0| ndE =zf
Certification Width Length Height Attachment hole Weight
RFL—20N KC 233 64 58 222X 32 220g
RFL—20 KC 233 74 74 222 X 37 2629
RIL—60 KC 233 90 85 222 x 45 290g
AIBFH2E | AEBFRESE Hi2e THE CIXISE IHSE SR}
Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
PC(Polycarbonate)
—20~90C @ 30~80% RH | —20~90°C | UL—94 v-2 M4 X 10 M4 X8 1.5—-4Y
A THE

52 RUN ELECTRONICS




CTDl(CondenseraTiriplDevice)

100 E ;

D €B|€B!EB €B|€B L
¥y

88

[s1]s2|pe|n]re]|n]

Dimensions
E x| _ = O LOADP +
= %3 (Characteristic) § I R o0 AR

51 O—¢{F=e >

OH

1. Vacuum Circuit Breaker2| Trip 2! EQITPHEE 2556
=

|2 HRHAS 2710j242 FR0 CTDS AlSE

- 71
B/D1 §
+|C1s L7
ELIC St % _  PBI 2
AAEH I |-- AC100V/110V 27 = T + Z/ A
- Ri

0fo
i

This device supply the trip of VCB and electric input
sources partionlarly it is useful when you are hard to
abtain the DC sourses. 20

2. M gFst 2E, 2ef|0], ¥Z MHE B2 AREEILICL Contact form diagram : 3|2%
Use as resistive lood, motors, relay, lamp power usage.
3. MXt717| MZ0l| ARRE SX[ELCt (DC110V IHY MZ2t0|E HE BAl510] AFREL|CE)
The prohibition on the use of electronic praducts. (Please use the attached DC110V power supply separately.)
4. VCB ZA[of CIAZ2|0] &0| Q2™ LOAD s MES AHEsHA| OFA[ZT DC110V I MEZH0|1E B2
HAI5Hd CTD(Trip)2F &4 AF2SHMIS.

If the display screen on the VCB body LOAD(P.N) do not use the input power, Attach the power supply separately
DC110V use with CTD(Trip)

Z= Ol At &} (Notices)

LOAD(P.N) 2XI& Eal0f| (DCEX, A7 S8) APt o™ HMefo| 2012 A&ELICE
(o 42 X110V = 155V)

ITEM PERFORMANCE SYMBOLS
U2 T2! (In voltage) AC100/110V 51, S2
ZTHLY (Fill up voltage) DC150V T.N
ZXA|ZE (Fill up time) 0.1S TN
7% (Short Blackout) 0.1S TN
HXQ S A7 (Discharger time) ACKIRI0| SO{X|TEE| 30X LK TN
X2t (Apply voltage) %DC150V TN
HF7|&2Fe (CTD Out voltage) % DCOOV~~100V (=) P.N
HF7|E3FF (CTD Out current) 10A, THAIZH 30A(10XE LH) P.N
Width Length Height Attachment hole Weight
RCTD—100 88 152 62 144 X 44 or 35mm DIN rail 2789
MBZSRE | AMBFSS FHET e CREE | n®EE | g
Ambient temp | Relative humidity | Custody temp | Case meterials | Terminal bolt | Attachment bolt | Termianl lug
—10~80C | 35~85% RH | —20~90°C ABS M4 X 10 M4X 10 1.5-4Y

RUN ELECTRONICS 53




=L, iR 2 AHE XX CY

O o Ol OO O {G
D E E
e o o B
s HI
« A .
Dimensions

E Xl (Characteristic)

1. IXIcH 7467+ Q0§ QLY.

2. RB—100ARB—225ARB-400AL XIXICHS BHZISIOIA 25t Ki2i0] H2|5tn SIAAZIS IH BE
3 4 UL

3. XIXICHS A15H2 BIXISIZ EIXICHR AKS B4 9Um, S0 2 SBEX
(DRI4: 24 ZIchSt 97 SRR LICH)

i

HotA =i ASLICH

7} Ht
G H

MODEL g A 2IME | AR EE | SHETIXL

(oy)
O
w)
m
M

RB-50A—-1P 1P 33 | 24 . . : 21 . . 3 4X10

RB—50A | 50A4P | 100 | 24 | 33 |155| 25 | 21 | 31 | 20 5 4X35

RB-100A | 100AdP | 120 | 24 | 45 |25 30 | 30 | 44 | 29 | 8 | 4x45 | 70

RB—225A | 225A4P | 140 | 24 | 51 (22175) 35 | 30| 44| 35 8 4X55 95

RB—400A | 400P4P | 185 | 40 | 60 (315 45 | 30 | 47 | 27 10 | 5X60

RB—400AL |400AL4P| 220 | 40 | 82 (3‘1”5) 52 | 44 | 62 49 | 10 | 5X60 | 240

X% MIE EHS SHO|X| X2 A0 QU= HEEH Fx

54 RUN ELECTRONICS




MODEL Size
RS—25A POOD 250
RS-258 @000 250
RS—25C XX XO) 250
RS—25D @60 250
RS—25E " X X XO 250
RS—25F " X N X@) 250

E %! (Characteristic)

1. 309, 20, 15, 10@ AE[#H

2. #ZFo, F7I9)

RUN ELECTRONICS 55




ThermochromiciStickens

LA AE|7

E Xl (Characteristic)

T2 At (Notices)

H217171, 21AEX], HARE, HY7ZI(TR), FAHL SBEXL

(H71gx[e] = 0|2 HE

s19l0] 222H))

718,82 S0l MIZ0| 2P 0|4 HAHO| 21010| FLICH (ZIAF ZM0l| HAIZE &2 TlotMIR.)
S X HHM AE|H Al2|=
MODEL 70°C OlSt = | 70°C O[A}mms | 70°C Of3}mmen | Size HM2E+5C
RS-70-18 | @ 70 o 180 70C
RS-70-3020 | [0 EEM 70°C Ety 70°C LtHA 30X 20 70C
R-7025A ROPO #4883 OGO v 70°C
MODEL 30°C O[St = | 50°C OfStmmn |  70°C OlAtmman | 30°C Ol5Hmmn
RS_30_70 30T 40T 50T 60T 70T 30T _40T 50T _60TC 70T 30T _40C 50T _60C_T0T 30C_40C 50T 60T 70T

Size : 15mm xX80mm

MM2E +57C 1 307, 40°C, 50°C. 60C. 70C

56 RUN ELECTRONICS




e g o POUTUTI - G0N0

@

A7 4 FTAQFA
Electrical Appliances Safety Certificate:

HH11363-50018

ELELE das
M fturer
ARy dany
i)
Az FAo| 24 P BUT EAF 555-0 BT ARE A 2-125
[Factory Adrers)

: FYARHTYYEATIT)

frih
Zeedd: RIL6O
s Maey

220 V-, 60 Hz 60 WULBOWx 1)
(Ratig)
FA R @ (Serien Model:

L2

Rg AR Ko0G96-1 Heso-2-1
Suamdord)

FHASEGN oY ANY, AIZ AT Gl o] N8 WA FEA o]
SHUFAE ZEY
We Issue Electrical Appliances Safety Certification as above product by Article 4 Section 3
of the Electrical Appliance Safety Control Law Operation Rule,

07 4 149
ear)  (Momth) (D)

) AN

va Electric Testing Inj

44 CPOOL-12-02)

210mim  207mm 3| 442 (%44 1208750

hat the following hermostats comply with the appropriste basic In o of
aleration o the exuipment —

SLa-cE0TT
Thermosia

RTLGOT/RTLSAT/ RTLSO/ATLS0/ RTL 30
18A 280V~ S0/80Hz TOUTSUTONTEATI0
20088

02+ A1208
mmmmsu.mwuuw

“Thin Do ol el i commestion with Tes Repor Mo SLB-0048

12007.06. 14,
E Min Sik, Sin Pi_!ﬂﬂl

?KW%?&M?\?&N"&%

NAEAEREREARARARREANIRARAR
EC Declaration of Canﬁmnty

C€

according to Low Voltage Directive 2006/95/EC

‘& EMC Directive 89/336/EEC

We herewith declare,

th the follwing muchins comples wih e sprpria baic ety s st
the EC

by s
wln-\uuuh,
Rafranca Mo
Equpnent
Equpment Type
Power Rating

of alterstion of the equipmet, not agreed upon by us, this declaration

SLE-CE-07011

‘Space Meater
RHCT-AO0W, RHCT-300W, RHCT-200W, RHCT-150W
RHCT-100W, RHGT-800

220-2407 ac SUBOHE.
400V, 300W, 200W, 150W 100W, B0W.
2008/08/EC

ENB0519-1: 2003
ENBOS1S2 1984

Ths D0 i unly valic i commestion weith Test Repar No.: SLI-0066

Authorized Signature - éz Q 12007, 4.27.

Title of Signatory

Min Sik, Sin 1 President

R AR A AR R AR IR AR AR AR AR AR AR IR AR AR ARAR AR AR AR ALY

iy

RERARARARARARARE)

188

0o

FARAR

( € e
&
]
2
according to Low Voltage Directive 2006/95/EC =4

m—mmhmm\-whtmum.ﬁm

by us. |umm.~—mnlu--m—-p-_mb,-.nu-u-m
o it vty

Refererce o SLB-CE0TO12
Equepmant Descrption Space Hestsr
Equipment Type RHT-Z00W, RHT-150W, RHT-100W, RHT-80W
Power Rating 2202400 ac 500z, 2000, 150 100W, BOW.
Appicatie EC Directive. 200898EC
Hammorezed Sandarg EN 60819-1: 2003

ENBOSIRZ 1904

This DUC s only valid i commecsion with Test Report M. SLB-0066

Authorized Signature !::@ 12007.4.27.

Title of Signatory Min Sik, Sin 1 President

R R AR A R R R R R R AR R AR AR AR AR AR AR AR AR IR AR AR AR AR AR HRS

RUN ELECTRONICS

1200003 aiton}eATT 024A1203
2

I 00,0718
Sim Min Sik vaesmem

C€

according 1o Low Voltage Directive
and

RUN ELECTRONICS

comply with the

bt the Tolowing thermosats spproprin busie safry. In case of
lraton of e equipmen, ot agroed upom by ., i docarasion il ose s validiy.

T84
FAN HEATER
RFH-2000-80, RFH-2000
200888C.
2004/10MEC
EN6os19-12003

EC ®eclaration of Conformity

Ce

acoording to Low Voltage Directive 2006/95/EC
and EMC Directive 2004,108/EC

We herewith declare,
RUN ELECTRONICS

that the folloming thermensars comply with the
altraticn of the equipmen, not

spproprisie busic saicy. In case of
oy . s dclemio il ot 1 e,

2004108EC

EN 8101012001
EN 8100064 2001
EN 81000422008

EC Declaration of Conformity

5LB-09.0220

RUN ELECTRONICS
#2125, Anyang Internationsi Circulation Compie, 8885,
Hogye-Domg. Anyang-Clty, Kyuingah-00, Korss.

SPACE HEATER
RHTS-30W, RHTS-50W, RHTS-50W, RHTS-100W,
RHTS-150W, RHTS-100WL, RHTS-100WH

EM 60819-1:2003

60619-2:2006

‘e herewith declare.

dar 1 ppropril -

EC Dictior bused on is doign and ype. 55 o coculation by us_In ot of
alienaiion f e equipmest, wot dgrved upou by w, ohis declanation will ose st vulidity.

Date: December 4. 2009

EC Declaration of Conformity

Themostat
RTM-50H, RTM-50F, RTM-80H, RTM-S0F

EM 80730-1: 2000 (3rd Edition}+A11:02+A12:03
EM 60730-2-8: 2002 (2nd EdL) + AT:030A11:03
EN §1000-6-1: 2001

EM 61000-6-3: 2001+A11:2004

EN $1000-3-3: 19951A1: 2001

‘We herewith declare,

s sk sk,

unms.uuma.g.-dm.bqﬁ—m-ﬁ—-;u In case of

www.21run.co.kr Em0|x| X2 AN CH2 8o} AL2SHMIL.

RUN ELECTRONICS 57




Page 1of1

For the following product
Prosuct Themostat
“Trade Mark
Model type R
Al modeis are same excest for lsmpersture (ange.
= numaric s denceng temperature range
Marutactured ot :
factory ang acaress R ELECTRONCS.
2128, Anpanp et Cicalton Compls. S8 Koo

Wa harsy deciars that the sbove indicaind product s fulfiled s folowing Diective inchuing 1.
Iatea amndments. 51 i nafional lagalaton empismenting T Directve  the ELVEEA countres.
oot dnctacanon, e sbove:
blsce of production.
Substances in
20088 18EC
The siandards |
RoHS : IEC 62021, Bd. 1
Date of issue 02 October 2007
A2
-
Win Sk, Sin
Pressent
——s ey e—y—
Tl 4231 ATHOBS FAX : +62314TH0048
o dinncen

EU RoHS Declaration of Conformity

Fref Mo, RUN-0912.01

Page 1011
EU RoHS
RUNI\E of
Ref Mo, CTKITOR-RS-0041
For e folowing product:
Product Space Hoatar
Tracks Mark
Mool ype: RHT-", RHCT-=
A
- suffx danctig hesting capacty

Manfinchured 8
Factary wnt asaress RUN ELECTROMICS

We hereby deciare thal fhe abiows indicoted pruduc is hufiled s folowing Europsan Drectve including the
EWEEA countries.

which are manutactured at the above

s vl for ol part
piace of production.

Decision 2006/618/EC
RoHS : IEC 62321, Bd. 1
Date of issve 02 Octoner 2007
A
—
e, 50
Prosident
Arvyang City, Nyungg-Do, Korea
boprreveiementdefisdporisn

=
CERTIFICATE OF PATENT

§ 8 A 100792245 & RESA...,  AETOEEML
ATt vson X B R

FLE T— U

W 5 A me oF Tee wENTON)
anela

LL]
B4 A parowen
L

A 22N B

YA owawrom
ad4

A7E 2EA FF 8369 HAAFolAE-201

Sl9] 2 rEHY, o o] RAFRUNY TH
HAE& FA%US.

[THS 1S TO CERTIFY THAT THE PATENT i REISTERED ON THE REGISTER OF THE KOREAN
INTELLECTUAL PROPERTY DFFICE.)

2007d 124 319

Page 1001
? EU RoHS
RUN De
e Fef Mo, CTKO708-RS-0043
For the folkranng product
Product Fiuarsscent
Trade Mark .
Madssi type. RFL, R
Al mosdeis are sama except or power consumpson and lamp.
== e suffx G8NOB POWSE CORMTONCR
RFL: Fluoresoent lsmp oy
RIL incandescent lamp o Auomsscent smp
Manufactured st
factory and sddress. RUN ELECTRONICS.
0436, Aren intrgorl levuuton Comples, 5.3, Hegye-Dong,
We harsty daciars het the sbove indicated product is fulled as folowing Direciive inchding the
st amnendment, and wih nalional egielstion imglementng s Divsctive in 18 countries.
s rples that . the above
plnca of praduction
in
The stavdards | srvenent s o follows

Daste of issue: 02 Octaber 2007

#2.128, Amyamg internationsl Circulstion Comptes. 5855.3. Hogye Dung. Anyang-City. Krunug-Oo, Kores
ol 462.91.4T5.0848 FAX: +83.31.478.0048.
e Zinn.ca bt

HRNAFRT

% g 403053711 4 T A 2002000810 8

* 4 U md 2¥ WY

agkel 94 WARE AF L=2P7) Acjs
Asudad a9y
A7NE TEA FF 8360 AQJFIThE-201

a ¢ A Ay
BAE XA FF 8360 AELAFORE-201

98] ;e AN Gsto] ABHBEH
A%l $HHRSE FAIUT.

2003 029 119

s o 7

o ABUTAL AR Az A AU ABAATUA S FHEA D 6
31 ohith BEAE o dddina g B4 doiol 2 448 S P Qe

www.21run.co.kr SH0|X| XEZA0IAM CH2 2ot AFRSIMIS.

58 RUN ELECTRONICS




	런전자_01-표지
	런전자_03-추천상품
	런전자_04-목차1
	런전자_05-목차2
	런전자_06-RT-90-HL
	런전자_07-RT-90-3S
	런전자_08-RT-90HT
	런전자_09-RTL-90
	런전자_10-RTM-90H
	런전자_11-RTM-90H3S
	런전자_12-RTM-90H2S
	런전자_13-RSB-90
	런전자_14-RS-90
	런전자_15-RHC-90
	런전자_16-RD-300
	런전자_17-RD-300설명서
	런전자_18-RD-200
	런전자_19-RD-200설명서
	런전자_20-RD-100
	런전자_21-RD-100설명서
	런전자_22-RD-500
	런전자_23-RD-500설명서
	런전자_24-RD-1000
	런전자_25-RD-1000설명서
	런전자_26-RD-500B
	런전자_27-RD-2000
	런전자_28-RHTC-65-200
	런전자_29-RHTC-80-180
	런전자_30-RHTC-80F-180
	런전자_31-1-히타수명연장
	런전자_31-2-히타수명연장회로도
	런전자_31-주의사항
	런전자_32-RHTS-100W
	런전자_33-RHTS-100WL
	런전자_34-RHTS-100WH
	런전자_35-RHCT-100W
	런전자_36-RHCT-500W
	런전자_37-RHT-20W
	런전자_38-RHT-100W
	런전자_39-RHM-1
	런전자_40-RHM-2
	런전자_41-RHM-4
	런전자_42-RFH-1000
	런전자_43-RFH-2000
	런전자_44-RFH-2000K
	런전자_45-RFH-2000-50
	런전자_46-RDFH-3000
	런전자_47-RLBS-10W
	런전자_48-캠핑용
	런전자_49-RLB-5W
	런전자_50-RLB-5WH
	런전자_51-RLB-36W
	런전자_52-RFL-20N
	런전자_53-RCTD-100
	런전자_54-RB-225A
	런전자_55-RS-25A
	런전자_56-RS-70-18
	런전자_57-CE
	런전자_58-ROHS

